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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 10 11 12 13 14 15 16
8011 IRAETFEERLY 0 0 0 0 1 1 1
8012 IRABTERERA 2 0 1 1 0 2 6
8013 IRABTEER (& 2 2 0 2 1 0 0
8021 IR AHETIZRKLY 0 0 0 0 1 1 0
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 1 1 2 4 0 2 2
8032 IRAET R A A 0 1 0 0 0 0 0
8033 IRAET R A 0 1 0 0 0 0 0
8041 IR AETEEIFLY 0 1 0 0 1 0 0
8042 IRAET LR A 0 1 0 0 1 0 2
8043 IR A HT B605% (X 0 0 0 0 0 0 0
8044 IR AET AR 0 0 0 0 0 0 1
8045 IR A HT 860% (F 1 1 2 1 0 1 0
8050 IR AHET IR A 1 2 3 2 0 0 1
8060 F N b ] 2 0 0 0 0 3 1
8070 IRAETER 0 0 2 1 2 1 0
8080 IR A BT S %A 1 0 1 0 1 1 0
8090 IRAETEE 3 1 1 0 0 0 1
8100 IRAETH /R 0 0 0 0 0 0 0
8110 IR ASHET )1 53 1 0 0 1 0 1 1
8120 IR AETEEME 1 1 3 2 1 0 2
8130 IRAETA E 0 2 0 1 1 2 0
8140 IRAETEEERT 1 0 3 2 3 3 3
8150 IRAETEEERL 2 1 1 0 0 2 1
9999 IRARR X ET 18 15 19 17 13 20 22
9010 FTHEHAREH 13 8 13 9 11 7 9
9020 FTHEHIEER 5 3 12 3 8 9 5
9030 FTHEI#%#H 36 29 38 28 36 19 19
9040 FTHEHRH 24 18 28 26 28 22 24
9999 FTHREXE 78 58 91 66 83 57 57
9110 Fi =R 14 9 9 14 8 16 18
9120 =BT A& 5 5 5 4 6 7 10
9130 FEETRE 2 1 1 2 3 1 4
9140 SERT T A 3 7 7 4 7 5 8
9150 SERT L 45 6 8 11 11 10 9 11
9160 SEETER AT 14 11 8 12 7 15 14
9170 =ETNE 17 14 15 19 17 16 19
9180 SR ET 85 5 4 12 13 13 9 6
9190 f=ETZ A 3 3 4 2 0 5 3
9200 SEETET IS 2 6 4 7 4 3 3
9210 RETE 7 7 9 9 4 10 4
9220 SR ET R 15 9 12 15 6 11 14
9230 SEET B M 10 19 13 12 13 9 10
9240 SRETIE R 2 3 1 2 4 5 6
9250 $ERTIL Frth 13 14 17 8 12 10 7
9999 FERXET 118 120 128 134 114 131 137
9310 B SHET AR 2 1 1 2 2 3 3
9320 RSETIE 4 3 1 3 3 9 3
9330 B[S ET/NE 1 0 3 2 4 5 2
9340 RISHETE 6 4 6 10 7 11 5
9999 R XE 13 8 11 17 16 28 13
9410 RETTE 10 3 12 9 10 6 9
9420 RETHHE 1 3 1 2 4 2 0
9430 RETEXR 1 1 1 5 2 2 1
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 1 0 0 0 0
9460 RETCHE 0 0 0 0 0 0 0
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIET (KF) 4 10 11 12 13 14 15 16 17 18 19

9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RETHER 1 2 1 1 2 1 2 1 3 1
9999 RREE 13 9 16 17 18 11 12 11 14 7

99999 a&t 1066 1084 1127 1125 1178 1246 1201 1246 1134 1166



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26 27
10 H ET 1 3 5 3 1 5 4 2
20 [ st BT 1 0 0 2 0 1 1 3
30 & HT 9 4 3 1 0 2 3 1
40 LRHET 1 1 3 4 0 2 1 2
50 AET—TH 5 11 4 5 9 10 12 7
60 AETZTH 1 1 3 6 5 4 5 3
70 AET=TH 9 7 5 4 5 7 3 2
80 AT I T 0 0 0 0 0 0 0 0
90 PR T I AT 1 1 7 0 3 6 4 1
100 Jt o FLET 3 2 1 0 6 2 2 2
110 ¥ASTHT 32 23 27 26 16 23 26 21
120 AT AHT 4 3 4 2 3 2 2 2
130 TEFHT 7 3 7 6 6 8 12 7
140 £ [E] T 1 0 0 3 0 0 0 0
150 TE T 4 9 8 11 15 3 5 4
9999 KRB XE 79 68 77 73 69 15 80 57
510 AETMTH 5 4 3 4 6 2 8 1
520 heEE T 3 0 0 2 0 2 2 1
530 J\IEHT 2 3 2 3 2 4 3 3
540 15 EET 5 10 6 12 2 9 5 4
550 it AT 12 8 6 4 4 5 1 8
560 = ZEHT 0 4 0 6 6 1 4 3
570 EEET 1 0 2 0 1 2 1 1
580 $BHET 2 2 3 1 1 5 1 7
590 FEET 1 0 1 2 5 0 0 0
600 RN 17 12 13 12 9 8 9 10
610 EHT 1 3 5 3 8 1 4 0
620 HAE—TH 0 0 0 1 1 0 0 0
9999 J\ KB XE 49 46 41 50 45 39 38 38
1010 B AHET 6 8 3 5 4 5 5 6
1020 L HHET 2 5 3 7 4 8 9 9
1030 mh A ET 6 5 1 2 4 4 1 6
1040 Fichag:ii 7 9 7 9 10 5 11 9
1050 K HAT 11 10 15 14 9 12 10 4
1060 F_EHT 6 10 7 16 5 11 8 12
1070 Fr IR ET 14 20 10 13 8 22 12 29
1080 E M HET 6 12 11 7 7 7 8 15
1090 HEHRT 17 15 10 8 7 7 8 8
1100 L+ BEHRT 6 9 12 4 14 3 12 8
1110 1S IEET 2 3 2 4 4 5 6 5
1120 12 1E JTHT 0 2 0 0 0 1 0 1
1130 + 0T 1 0 1 1 0 0 0 0
1140 FRRET 0 0 0 0 1 0 0 0
1150 FERET—TH 3 1 1 2 3 3 1 2
1160 FEET-TH 7 4 3 6 2 2 6 2
1170 H7KET 3 1 4 5 3 3 4 2
1180 BEFLET 7 10 7 9 4 4 3 5
1190 FEFARHT 3 3 2 4 3 3 2 3
1200 RKFH—TH 2 2 2 2 1 1 1 0
1210 XKFHIZTH 2 2 2 4 3 3 2 1
1220 FHT 3 3 2 5 0 1 1 3
1230 iGET 2 2 3 3 0 2 2 0
1240 HEET 2 2 3 8 0 1 3 4
1250 1= ET 5 4 1 2 3 3 3 4
1260 JBh & 0 1 0 0 1 0 0 2
1270 HEHET 2 3 3 1 2 2 5 3
1280 FRAE T 3 3 4 2 4 3 2 1
1290 SR ET 3 3 3 1 6 3 5 2
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26
1300 A ZEMT 0 4 2 3 3 1 1
1310 KRIGHET 1 5 2 0 2 0 1
9999 A HEEXE 132 161 126 147 117 125 132
1510 HEHD L BT 14 22 15 14 9 15 12
1520 HE T ET 13 13 8 4 9 9 7
1530 HE#0 ST ET 6 4 4 2 6 11 9
1540 KigFHT 10 16 8 10 14 6 6
9999 FERNAR: X B 43 55 35 30 38 41 34
2010 = EHRHET 3 5 1 2 5 2 7
2020 %= EFhHET 6 7 5 10 8 10 6
2030 JENHT 0 1 0 1 0 1 0
2040 HET—TH 2 2 4 4 3 3 1
2050 WET—TH 5 3 2 8 3 5 1
2060 ¥o HE T 1 0 1 0 2 0 1
2070 FRET—TH 5 3 7 4 2 1 5
2080 FRETZ=TH 6 3 3 4 5 2 4
2090 =g 22 26 28 35 20 38 34
2100 ==bld:] 8 3 1 4 12 8 2
2110 KEANETET—T B 7 4 4 4 5 7 3
2120 HEHIFTET —T B 8 12 4 6 3 2 6
9999 ZEREXE 73 69 60 82 68 79 70
2510 FA U BT 39 24 47 33 33 36 45
2520 K B2 ET 21 29 25 25 17 21 28
2530 =/NEET 17 5 4 7 6 6 9
2540 FHiGHT 8 10 9 4 4 4 7
2550 SRET 5 5 3 1 3 4 5
2560 = BT 17 17 16 17 13 12 15
2570 KEHRT 0 1 0 2 2 0 1
9999 WERXE 107 91 104 89 78 83 110
3010 RHTET 18 14 18 13 9 9 9
3020 T ET 28 17 17 17 19 6 17
3030 L+ EET 20 17 13 10 20 6 13
3040 =1z 0] 2 4 2 0 1 3 1
3050 o B BT 31 45 33 37 39 30 39
3060 H R THT 6 11 2 10 5 3 5
3070 T BN RT 8 17 16 11 6 4 10
3080 H T 7 10 9 9 11 6 6
3090 H R R ET 8 12 15 6 9 2 7
3100 s2==lsic: ) 16 13 16 14 28 22 12
3110 zZl==pId:1) 10 5 12 12 9 6 14
9999 INTFEREXE 154 165 153 139 156 97 133
3510 SR 2 3 4 4 7 2 2
3520 E R hHET 8 7 5 6 4 4 5
3530 ERTHT 17 23 16 15 24 22 26
3540 =B RHT 7 8 8 9 5 1 6
3550 AEFHT 20 16 12 13 14 15 15
3560 = T ERHET 1 5 4 2 2 1 3
3570 = e 17 14 21 10 14 15 14
3580 3 L BT 13 15 12 19 9 12 7
3590 TEHT 0 0 0 0 0 0 0
9999 SHBEEXE 85 91 82 78 79 72 18
4010 201 P ET 3 2 4 1 7 2 6
4020 fE&HT 3 3 5 0 2 0 2
4030 1SET 8 7 6 4 4 3 2
4040 = HE A ET 8 6 3 8 5 8 8
4050 7K E/T 7 15 8 13 10 11 8
4060 B2 4 AT 3 4 1 5 2 7 6
4070 At [ ET 2 3 2 3 4 2 7
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26
4080 =T iHiRT 3 3 5 2 1 3 1
4090 R ET 2 4 6 2 4 6 3
4100 A EFNET 0 2 3 1 0 3 1
4110 Jt S FOET 4 0 2 1 5 2 1
9999 R XET 43 49 45 40 44 47 45
4510 ERE—ZHT 13 8 16 14 11 17 16
4520 B FKMET 5 5 2 3 4 0 4
4530 AREE=FHET 2 4 3 2 2 2 3
4540 ERZE FHT 2 3 8 9 5 4 5
4550 AR FHHET 6 5 3 3 2 4 2
4560 EREENTEET 0 0 1 2 2 1 3
4570 ARECHET 5 3 3 7 2 1 4
4580 AR )\ FEHT 0 3 1 3 3 5 0
4590 AR N FHET 7 3 2 4 10 1 2
4600 EREE+ZRHT 9 8 8 8 9 10 4
4610 EREE+—FHET 10 4 15 17 10 9 13
4620 B+ — FKHET 16 11 14 18 12 17 15
9999 BERRET 75 57 76 90 72 71
5010 REF0 B /T 3 7 6 4 3 4 5
5020 AR FNBA 5T 3 5 6 9 6 6 7
5030 REF0E{_HT 5 11 5 5 7 7 6
9999 AR X &Y 11 23 17 18 16 17 18
5510 b R ET 7 0 3 8 1 6 6
5520 = Hh BT 12 9 10 9 5 6 9
5530 =T 10 9 3 6 4 12 8
5540 T 3 3 3 7 3 3 1
5550 BET 1 0 0 1 1 0 0
9999 =X E 33 21 19 31 14 27 24
6010 [iE] BT /)N B 0 1 0 1 2 2 0
6020 fif] BT e 2 3 1 6 0 5 2
6030 [ BT &)1 2 2 1 0 1 1 1
6040 13 FFET 4 1 4 3 4 2 1
6050 JIIEHET R 2 4 4 1 2 3 3
6060 JIIEBETEE 4 1 2 1 0 2 3
9999 BEERRXET 14 12 12 12 9 15 10
6510 H&EA#EAHET 0 0 1 1 1 1 0
6520 H&E A KEHT 3 2 0 0 0 0 1
6530 B &R AFTHET 4 2 3 6 0 3 1
6540 HEAILUTH 1 2 1 0 1 0 5
6550 BEAM 2 NET 2 3 3 1 0 1 0
6560 HEAEILHT 2 1 1 0 2 2 4
6570 HEAGFHET 0 3 3 1 3 2 1
6580 HZEARHT 2 1 0 2 1 1 0
6590 HEARHE 0 2 0 0 0 0 1
6600 HZEAGHT 0 1 1 1 1 1 2
6610 HZEA LT 2 2 0 1 0 0 0
6620 HEAGFHT 0 0 1 0 1 0 0
6630 HEATHAET 1 1 3 0 1 1 1
6640 HEA EHBHT 0 0 1 2 0 1 0
6650 HZEASHE 0 0 0 0 1 0 0
6660 HEAFRHET 0 0 0 0 0 0 0
9999 HEARRKE 17 20 18 15 12 13 16
7010 ZRIMOm 2 5 4 2 2 5 0
7020 ZRKHT 3 1 4 4 6 0 3
7030 Z RIRHAET 2 2 1 2 0 2 2
7040 ZRTXKEHET 4 4 1 2 4 1 4
7050 Z RETHISHET 0 1 1 3 2 3 1
9999 ZRBREXE 11 13 11 13 14 11 10
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 20 21 22 23 24 25 26
8011 IRAETFEERLY 1 2 1 2 2 1 2
8012 IRABTERERA 2 2 3 4 3 4 0
8013 IRABTEER (& 0 0 1 1 1 1 3
8021 IR AHETIZRKLY 0 0 0 0 2 1 4
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 3 2 3 1 3 1 2
8032 IRAET R A A 0 0 0 1 0 0 0
8033 IRAET R A 0 1 0 1 0 0 0
8041 IR AETEEIFLY 0 0 1 0 2 0 0
8042 IRAET LR A 0 1 0 2 2 1 0
8043 IR A HT B605% (X 0 1 0 0 0 0 0
8044 IR AET AR 0 0 0 1 0 2 0
8045 IR A HT 860% (F 0 0 0 0 0 1 1
8050 IR AHET IR A 2 1 0 2 0 1 1
8060 F N b ] 3 4 0 1 3 4 2
8070 IRAETER 1 0 3 0 1 1 0
8080 IR A BT S %A 0 0 0 1 0 1 1
8090 IRAETEE 0 0 0 0 0 0 1
8100 IRAETH /R 0 0 0 0 0 0 0
8110 IR ASHET )1 53 0 2 0 1 0 0 2
8120 IR AETEEME 2 1 2 0 0 1 0
8130 IRAETA E 3 0 0 0 1 0 0
8140 IRAETEEERT 1 4 3 1 1 0 2
8150 IRAETEEERL 0 3 1 2 3 2 1
9999 IRARR X ET 18 24 18 21 24 22 22
9010 FTHEHAREH 4 10 7 10 10 5 9
9020 FTHEHIEER 9 6 3 8 4 7 1
9030 FTHEI#%#H 19 14 17 9 11 12 16
9040 FTHEHRH 21 22 16 20 29 24 22
9999 FTHREXE 53 52 43 47 54 48 58
9110 Fi =R 12 13 7 8 6 10 15
9120 =BT A& 5 8 7 2 3 4 3
9130 FEETRE 4 4 2 2 2 1 1
9140 SRET T AT 14 9 5 11 2 6 6
9150 SERT L 45 8 10 5 14 4 4 6
9160 SEETER AT 15 7 10 12 13 11 14
9170 =ETNE 10 15 9 16 16 22 16
9180 SR ET 85 9 11 5 7 8 17 9
9190 f=ETZ A 6 5 2 8 1 2 3
9200 SEETET IS 1 3 5 5 5 6 7
9210 RETE 10 3 11 6 10 9 6
9220 SR ET R 18 7 6 6 8 12 8
9230 SEET B M 15 9 18 8 10 10 6
9240 SRETIE R 9 13 6 12 4 2 7
9250 $ERTIL Frth 20 9 11 18 14 8 21
9999 FERXET 156 126 109 135 106 124 128
9310 B SHET AR 4 1 4 2 3 4 0
9320 RSETIE 5 4 6 1 4 2 2
9330 B[S ET/NE 1 1 1 0 2 0 4
9340 RISHETE 14 8 7 5 7 3 6
9999 R XE 24 14 18 8 16 9 12
9410 RETTE 5 3 6 5 5 6 8
9420 RETHHE 3 2 0 3 3 0 2
9430 RETEXR 3 1 1 2 1 1 2
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 0 2 0
9460 RETCHE 0 0 0 0 0 0 1
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MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 20 21 22 23 24 25 26

9470 RETEXR 0 0 0 0 0 0 0
9480 SRETHER 3 1 0 1 1 0 0
9999 REEXE 14 7 7 11 10 9 13
99999 &5t 1191 1164 1071 1129 1041

27 28 29
0 0 0
0 0 1
5 12 15

1024 1102 1120 1160 1254



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET(KF)3—F {TEHET (KF) £ 30 31 32 33 34 3 3 37 38 39
10 H ET 2 4 4 3 3 4 2 4 2 2
20 [ st BT 8 2 2 2 3 1 5 6 5 6
30 & HT 3 6 3 1 2 3 4 6 3 7
40 LRHET 4 0 4 1 1 1 2 5 1 2
50 AET—TH 7 5 4 7 3 3 4 2 2 3
60 AETZTH 8 4 6 8 3 4 7 8 6 5
70 AET=TH 5 4 7 4 6 6 5 2 1 6
80 AT I T 2 0 0 1 0 0 1 1 1 1
90 PR T I AT 3 5 1 7 3 3 2 2 12 3
100 Jt o FLET 4 2 2 1 0 5 4 3 7 0
110 ¥ASTHT 28 25 21 28 33 27 23 24 29 43
120 AT AHT 1 3 7 4 5 5 8 4 7 4
130 TEFHT 5 4 8 6 8 6 6 11 7 11
140 £ [E] T 1 0 0 0 0 0 0 0 1 1
150 FEFHET 19 10 12 11 10 12 15 8 9 7
9999 KRB XE 100 74 81 84 80 8 88 86 103 101
510 AETMTH 3 10 14 2 7 11 8 17 22 12
520 heEE T 6 4 1 4 10 3 2 5 4 8
530 J\IEHT 6 4 6 5 4 4 9 5 8 4
540 18R HT 7 8 4 6 10 13 7 8 15 9
550 S BT 6 7 7 5 7 7 4 7 6 10
560 = ZEHT 3 0 1 1 3 1 1 3 2 2
570 EEET 0 0 0 1 2 1 0 1 2 3
580 $BHET 3 3 4 2 2 3 3 2 1 2
590 FEET 1 0 1 0 0 1 0 2 0 0
600 RN 13 12 15 17 10 11 17 22 14 14
610 FRHT 1 1 1 2 4 4 4 4 5 2
620 iERT—TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KB XE 49 49 54 45 59 59 55 76 79 66
1010 B AHET 4 2 7 6 6 3 2 5 2 3
1020 L+ FHET 7 15 5 14 8 8 9 12 10 13
1030 o ET 7 8 6 9 5 7 16 13 10 11
1040 79 HT 12 19 15 26 15 16 14 10 15 9
1050 K HAET 18 16 17 12 13 10 12 13 22 17
1060 F_EHT 11 14 16 8 17 12 12 4 14 16
1070 Fr IR ET 22 28 12 14 15 19 20 17 24 5
1080 E HH#T 10 11 15 11 11 9 6 10 5 18
1090 HEHRT 12 16 10 13 11 12 15 16 13 15
1100 L+ BEHRT 8 13 15 18 15 11 16 12 9 13
1110 1S IEET 1 6 3 6 3 6 5 6 4 2
1120 12 1E JTHT 2 1 0 0 0 0 2 2 2 0
1130 + 50T 0 2 0 1 1 0 0 0 0 1
1140 FRRET 0 0 0 0 0 0 0 0 1 0
1150 FERET—TH 6 4 4 4 7 1 3 6 2 4
1160 FEET-TH 3 1 3 4 4 3 10 6 3 1
1170 H7KET 4 5 4 6 4 5 3 7 6 1
1180 BEFLET 1 2 5 5 3 2 5 6 4 5
1190 FEFARHT 6 5 5 4 2 2 6 4 6 3
1200 KFH—TH 2 2 4 2 2 3 0 1 4 4
1210 XKFHIZTH 4 0 1 3 3 3 7 5 4 1
1220 FHT 1 0 5 7 0 7 3 1 6 0
1230 iRET 2 2 0 5 2 3 3 5 2 2
1240 HEET 4 4 2 0 3 2 1 6 0 2
1250 1= ET 3 0 3 3 5 5 3 4 1 0
1260 yER=E 3T ] 1 1 1 0 0 2 0 1 1 0
1270 HEE 4 1 4 3 4 2 5 3 3 5
1280 PRAEHT 3 7 5 0 2 5 1 5 5 3
1290 SR ET 5 3 5 3 3 1 4 6 4 4



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIET (KF) 4 30 31 32 33 34 35 36 37 38 39

1300 4 TEMT 2 2 3 3 4 2 1 5 2 2
1310 KRIGHET 0 0 0 0 0 0 1 2 0 2
9999 A HEEXE 165 190 175 190 168 161 185 193 184 162
1510 HEHD L BT 9 7 15 9 6 17 21 24 22 17
1520 HE T ET 13 11 8 13 12 14 16 20 26 18
1530 HE#0 ST ET 9 5 6 5 4 4 7 8 8 5
1540 KigFHT 5 7 8 10 4 12 16 12 11 12
9999 FERNAR: X B 3 30 37 37 26 47 60 64 67 52
2010 = EHRHET 4 1 4 9 10 2 9 5 12 3
2020 %= EFhHET 7 11 9 10 12 4 8 5 7 13
2030 J0ET 0 0 0 0 0 2 0 0 0 0
2040 WET—TH 7 3 4 3 4 2 2 1 4 1
2050 WET—TH 2 8 2 4 5 6 4 3 4 3
2060 ¥o HE T 2 0 1 1 1 1 2 1 3 1
2070 FRET—TH 3 8 6 4 9 3 6 7 4 2
2080 FRETZ=TH 3 2 3 5 3 3 7 8 4 1
2090 Ty ET 36 34 29 35 47 50 37 22 38 43
2100 ==bld:] 6 9 5 15 9 12 6 10 9 7
2110 FENNFTET—T B 2 6 4 1 1 3 5 5 10 5
2120 HEHIFTET —T B 6 1 6 7 5 4 8 8 11 4
9999 ZEREXE 78 83 73 94 106 92 94 75 106 83
2510 FA U BT 45 58 44 44 65 60 60 73 60 64
2520 K B2 ET 24 37 44 37 51 38 36 49 44 47
2530 =/NEET 9 9 6 7 1 4 8 6 10 8
2540 FHi5HT 5 3 3 5 6 8 12 6 8 8
2550 SRET 2 5 5 6 6 4 4 3 4 4
2560 = BT 19 24 21 28 31 16 19 19 27 23
2570 KEHT 3 2 1 2 2 2 1 6 5 4
9999 WERXE 107 138 124 129 172 132 140 162 158 158
3010 RHTET 18 20 12 19 20 25 29 34 23 25
3020 T ET 32 22 18 24 171 17 17 18 31 28
3030 L+ EET 17 13 17 23 23 17 18 23 20 27
3040 B _ERT 2 2 2 4 1 0 0 4 3 2
3050 o B BT 55 64 49 53 53 51 48 471 21 47
3060 HETHET 8 6 7 10 13 11 9 7 9 7
3070 T BN RT 11 6 4 10 18 6 10 6 9 13
3080 HH ch T 16 10 17 14 15 13 11 9 9 14
3090 H R ET 11 6 9 10 11 16 19 11 7 12
3100 s2==lsic: ) 18 21 19 17 16 10 15 9 15 11
3110 zZl==pId:1) 12 6 1 10 15 7 8 9 13 12
9999 INTFEREXE 200 176 165 194 202 173 184 177 166 198
3510 ERE T 4 3 3 3 3 2 1 3 2 4
3520 E R hHET 4 7 7 4 9 6 5 3 7 7
3530 ERTHT 19 29 26 19 35 28 26 27 14 12
3540 Z R KHET 5 5 6 5 4 10 8 6 13 15
3550 AEFHT 10 16 5 17 12 14 17 15 13 33
3560 = T ERHET 5 7 6 6 5 10 5 7 4 7
3570 = e 20 18 10 5 20 17 12 14 20 18
3580 3 L BT 13 10 10 6 7 16 15 8 9 17
3590 TEHT 0 0 0 0 0 0 0 0 0 0
9999 SHBEEXE 80 95 73 65 95 103 89 83 82 113
4010 )1 g ET 6 1 5 2 5 5 8 5 7 8
4020 fE&HT 0 3 2 1 1 2 0 1 1 1
4030 1SET 4 7 6 2 3 7 5 5 5 9
4040 = HE A ET 10 5 3 1 5 3 3 3 8 2
4050 7K E/T 8 13 4 11 10 14 6 11 12 6
4060 B2 4 AT 8 18 13 15 11 9 16 7 13 10
4070 At [ ET 3 9 2 4 4 2 2 3 7 1



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 30 31 32 33 3 3 36
4080 =T iHiRT 11 5 7 2 7 2 4
4090 R ET 8 6 7 5 4 2 3
4100 A EFNET 3 3 6 3 7 6 2
4110 Jt S FOET 4 2 2 7 4 8 3
9999 R XET 65 72 57 53 61 60 52
4510 ERE—ZHT 6 11 13 11 21 23 15
4520 B FKMET 6 4 3 4 8 6 8
4530 AREE=FHET 3 3 3 3 5 6 4
4540 ERZE FHT 1 2 0 4 2 4 4
4550 AR FHHET 1 2 4 2 3 3 1
4560 EREENTEET 2 1 1 1 2 4 0
4570 ARECHET 3 2 2 2 0 3 2
4580 AR )\ FEHT 4 0 2 4 2 2 5
4590 AR N FHET 2 2 5 3 6 0 8
4600 ERE+ZHT 7 6 2 5 6 2 1
4610 EREE+—FHET 8 7 8 4 4 5 4
4620 B+ — FKHET 16 11 5 10 4 3 1
9999 BERRET 50 51 48 53 63 61 53
5010 REF0 B /T 4 5 6 8 4 5 6
5020 AR FNBA 5T 5 1 3 5 3 8 3
5030 REF0E{_HT 6 5 9 4 6 8 6
9999 AR X &Y 15 11 18 17 13 21 15
5510 b R ET 4 3 4 3 6 3 1
5520 = Hh BT 8 14 13 12 15 12 21
5530 =T 10 9 13 9 6 14 11
5540 T 9 1 6 5 5 9 5
5550 BET 0 0 0 0 3 2 2
9999 =X E 31 27 36 29 35 40 40
6010 [iE] BT /)N B 4 0 2 2 0 4 0
6020 fif] BT e 1 5 3 3 3 1 1
6030 [ BT &)1 0 1 0 3 1 1 1
6040 13 FFET 2 9 2 5 5 4 8
6050 JIIEHET R 0 1 2 1 2 3 1
6060 JIIEBETEE 0 5 3 2 3 1 1
9999 BEERRXET 7 21 12 16 14 14 12
6510 H&EA#EAHET 0 2 0 0 1 0 0
6520 H&E A KEHT 3 5 3 6 4 0 3
6530 B &R AFTHET 2 1 1 1 1 1 2
6540 HEAILUTH 5 2 3 2 1 3 4
6550 BEAM 2 NET 0 1 2 0 5 1 1
6560 HEAEILHT 4 3 3 1 4 5 4
6570 HEAGFHET 2 2 4 3 0 1 0
6580 HZEARHT 1 1 0 0 0 1 2
6590 HEARHE 2 0 0 1 0 0 0
6600 HZEAGHT 0 4 0 1 0 3 2
6610 HZEA LT 0 2 0 0 2 1 1
6620 HEAGFHT 0 1 0 0 2 0 1
6630 HEATHAET 1 0 0 1 0 0 0
6640 HEA EHBHT 1 0 0 0 1 1 0
6650 HZEASHE 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 0
9999 HEARRKE 21 24 16 16 21 17 20
7010 ZRNOmE 6 2 2 0 3 5 3
7020 ZRKHT 5 6 4 6 2 2 6
7030 Z RIRHAET 2 0 1 1 1 1 0
7040 ZRTXKEHET 0 1 2 2 1 1 2
7050 Z RETHISHET 0 3 0 1 3 0 1
9999 ZRBREXE 13 12 9 10 10 9 12

w

—

I

—_—

—_—

wW

N
— =S W00 OWCOOOOO—=—=0O0—=NWNN—-OOWONOUIWOINOWOINNWNONDPODRERJWONN—_ONOOOSODWOOLORANONJ

—_—

—_—

N

— —
O WNOMNMNMNMNPPOONONO—,O—_POWOMNMNNMN—OOOGNNMNOMNMOWO -~ d—=_WOPAPOMNMNMNMNOPAAPLPWOPLAL,—=0O©OWO

w

— 1

— O

—_—

- N

(&)

N
A =2 WOONOOO—-—OOONO—-NDIMPAOBLANJOOO—-WOWN—- OO, WIUIO - WDHAhIOINWWOOO =010 —=-NJO©OO®©

—_—



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 30 31 32 33 3 3 36
8011 IRAETFEERLY 1 1 0 1 1 1 1
8012 IRABTERERA 3 2 2 0 1 2 2
8013 IRABTEER (& 2 0 2 3 2 0 0
8021 IR AHETIZRKLY 1 3 3 2 1 0 1
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 1 3 2 1 2 2 2
8032 IRAET R A A 0 0 1 0 0 0 0
8033 IRAET R A 0 0 0 0 1 0 0
8041 IR AETEEIFLY 1 2 1 0 1 2 2
8042 IRAET LR A 2 0 0 0 0 0 0
8043 IR A HT B605% (X 0 0 1 0 0 0 1
8044 IR AET AR 0 1 0 0 0 0 0
8045 IR A HT 860% (F 1 0 0 3 0 0 0
8050 IR AHET IR A 3 1 0 2 3 1 4
8060 F N b ] 0 1 1 2 3 2 0
8070 IRAETER 0 2 1 1 2 0 2
8080 IR A BT S %A 1 1 0 0 1 1 0
8090 IRAETEE 0 1 1 0 3 1 2
8100 IRAETH /R 0 0 0 0 0 0 0
8110 P A< BT 11553 0 0 0 0 0 2 1
8120 IR AETEEME 1 0 1 2 1 1 3
8130 IRAETA E 1 0 0 0 1 0 2
8140 IRAETEEERT 3 0 0 1 1 2 0
8150 IRAETEEERL 0 3 1 1 1 1 0
9999 IRARR X ET 21 21 17 19 25 18 23
9010 FTHEHAREH 14 19 16 15 7 7 11
9020 FTHEHIEER 6 10 4 7 8 3 5
9030 FTHEI#%#H 22 17 32 35 34 40 28
9040 FTHEHRH 286 23 26 27 28 27 33
9999 FTHREXE 70 69 78 84 711 71 71
9110 Fi =R 8 10 9 11 9 8 15
9120 =BT A& 5 2 5 2 5 8 3
9130 FEETRE 3 0 4 4 4 2 6
9140 SRET T AT 8 7 7 9 8 10 12
9150 SERT L 45 7 12 12 21 11 12 13
9160 SEATEE AT 11 12 15 16 11 17 10
9170 =ETNE 19 10 21 26 27 20 29
9180 SEETER 13 11 9 9 11 11 15
9190 f=ETZ A 4 5 5 5 6 6 10
9200 SEETET IS 2 3 5 2 5 5 4
9210 SEETEH 11 7 6 11 9 8 10
9220 SR ET R 12 14 13 8 4 13 11
9230 SEET B M 10 13 15 8 6 20 16
9240 SRETIE R 6 5 8 6 5 5 7
9250 $ERTIL Frth 19 16 12 18 27 19 16
9999 FERXET 138 127 146 156 148 164 177
9310 B SHET AR 3 2 1 1 1 2 8
9320 RSETIE 5 2 2 5 3 5 4
9330 B[S ET/NE 2 3 1 0 3 3 3
9340 HZET 5 5 3 7 4 5 9
9999 R XE 15 12 7 13 11 15 24
9410 RETTE 6 5 10 11 7 3 4
9420 RETHHE 1 2 2 2 4 5 3
9430 RETEXR 0 1 1 2 2 0 0
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 1 0 0
9460 RETCHE 0 0 0 0 0 1 0

w
© - - 000000~ —- 4~ 0 0~ 000~ 00 —~W—-0Y

. —_ N = —_ N W N — —_
WO ONOONOCONWOOaA~A—=O0ND

28

OO - 000 == W—-WOOOO0OO—-OMNOO == =00

~N W N —_
SO0 GIN 00OTIO S

—_ —_ —_ NN —
O OCITOWOOINONWO

169

OCQOOMNMNOOWOW—-0IW

0= = = WOWOUI—-—OOO—-=N—-NOOMNW—-O©

—_ N —= = NOWW—= =N
ANPPPAPAIIO0OWOOOOOIONOOO -0 ©—=

13



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 30 31 32 33 34 35 36

9470 RETEXR 0 0 0 0 0 0 1
9480 SRETHER 2 0 1 1 1 2 1
9999 REEXE 9 8 14 16 15 11 9
99999 &5t 1279 1290 1240 1320 1401

37 38 39
0 0 0
0 1 0

17 11 17

1354 1409 1395 1459 1465



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (AF)3—F {TIRET (KF) 4 40 41 42 43 44 45 46 47 48
10 H ET 5 3 4 3 1 6 5 5 0
20 [ st BT 4 2 3 4 5 5 4 2 4
30 & HT 5 4 5 2 3 5 9 3 8
40 LRHET 3 4 7 2 3 3 1 2 4
50 AET—TH 3 8 8 7 8 8 13 7 5
60 AETZTH 1 6 4 4 2 4 2 10 3
70 AET=TH 8 6 4 13 10 6 15 10 14
80 AT I T 1 0 0 1 0 2 2 1 0
90 PR T I AT 4 5 7 1 3 2 4 3 5
100 Jt o FLET 2 6 3 4 2 6 7 6 3
110 ¥ASTHT 24 32 39 41 41 34 33 29 55
120 /NAW. N 7 4 11 9 5 9 3 2 4
130 TEFHT 14 6 13 12 10 10 11 7 1
140 £ [E] T 0 0 0 1 1 0 0 0 0
150 FEFHET 15 12 8 9 16 9 8 11 11
9999 KRB XE 96 98 116 113 110 109 117 98 127
510 AETMTH 10 10 8 8 7 8 11 10 4
520 hEEEHT 7 6 9 5 4 2 4 2 2
530 J\IEHT 7 4 5 2 6 6 1 6 4
540 18R HT 11 12 10 21 16 14 15 9 20
550 S BT 9 14 9 15 12 14 10 13 19
560 = ZEHT 3 3 0 2 0 2 3 1 2
570 EEET 1 2 1 5 3 0 2 1 1
580 $BHET 3 5 4 3 5 1 0 2 0
590 FEET 0 1 0 1 0 3 0 1 2
600 RN 11 15 16 14 19 13 14 18 22
610 EHT 6 2 1 3 5 3 2 5 3
620 iERT—TH 0 0 0 0 0 0 0 0 0
9999 J\ KB XE 68 74 63 79 77 66 62 68 79
1010 B AHET 4 4 5 9 3 4 5 12 8
1020 L HHET 8 7 7 11 9 10 4 8 5
1030 mh A ET 8 6 8 9 5 10 2 7 5
1040 Fichag:ii 6 11 16 12 8 6 10 9 8
1050 K HAT 13 11 22 19 11 18 14 22 12
1060 F _EHT 10 12 12 11 17 16 16 21 13
1070 Fr IR ET 17 16 13 14 14 16 14 17 15
1080 E M HET 7 7 6 7 17 9 13 24 11
1090 HEHRT 15 25 14 17 14 20 22 14 18
1100 L+ BEHRT 21 14 10 14 13 13 13 8 13
1110 1S IEET 3 5 2 2 5 7 4 8 6
1120 12 1E JTHT 0 0 1 3 1 0 1 2 0
1130 + 0T 2 0 0 0 2 0 0 0 1
1140 FRRET 0 0 0 0 1 1 1 1 0
1150 FERET—TH 2 2 7 2 3 6 4 5 0
1160 FHEERT-TH 4 3 3 10 4 6 8 8 7
1170 H7KET 4 7 2 5 1 7 5 6 9
1180 BEFLET 1 7 5 8 6 5 10 10 8
1190 FEFARHT 2 4 8 3 3 5 3 3 6
1200 RKFH—TH 4 3 2 5 3 3 5 2 7
1210 XKFHIZTH 9 2 7 4 2 2 3 1 3
1220 FHT 4 3 6 6 3 4 6 1 2
1230 iGET 4 4 5 2 5 2 2 4 6
1240 HEET 3 6 4 2 2 4 2 3 2
1250 1= ET 3 1 5 3 6 2 3 9 4
1260 JBh & 0 1 1 0 1 2 1 3 2
1270 HEHET 8 5 2 2 5 4 2 2 3
1280 PRAEHT 6 2 3 6 10 4 2 6 5
1290 SR ET 5 4 6 4 4 7 5 3 6

I

w

(o]
ONOO -4 WOWWOOUITWNOOOOUTIWWwhhA,—-00WDAOWNIMO©

—_—

—_—

—“ = NOWWNRERIIWOOINOOOOO —-W



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TIRET (KF)a—F {TIHET (KF) & 40 41 42 43 44 45 46

1300 A ZEMT 4 1 0 1 1 1 1
1310 KRIGHET 3 0 3 0 1 2 0
9999 A HEEXE 180 173 185 191 180 196 181
1510 HEHD L BT 19 16 21 18 21 17 24
1520 HE T ET 21 21 17 17 24 20 15
1530 HE#0 ST ET 11 10 7 14 8 3 3
1540 KigFHT 12 20 12 20 11 11 12
9999 FERNAR: X B 63 67 57 69 64 51 54
2010 = EHRHET 7 7 3 3 4 5 6
2020 %= EFhHET 12 9 12 11 10 7 8
2030 J0ET 0 1 1 0 0 0 0
2040 HET—TH 5 7 4 7 2 9 8
2050 WET—TH 6 2 5 7 3 6 8
2060 ¥o HE T 2 1 1 0 2 1 0
2070 FRET—TH 3 2 4 6 6 7 6
2080 FRETZ=TH 4 2 5 6 4 2 10
2090 =g 42 47 46 42 39 50 33
2100 ==bld:] 12 5 5 5 7 5 8
2110 FENNFTET—T B 10 6 6 3 4 5 5
2120 HEHIFTET —T B 7 2 6 7 4 12 4
9999 ZEREXE 110 91 98 97 85 109 96
2510 FA U BT 85 77 80 53 78 55 48
2520 K B2 ET 42 31 38 43 40 29 31
2530 =/NEET 5 13 7 11 17 8 17
2540 FHiGHT 7 8 9 9 1 10 9
2550 SRET 5 6 5 4 7 5 1
2560 = BT 290 29 24 25 27 22 26
2570 KEHRT 2 2 2 0 0 1 3
9999 WERXE 175 166 165 145 180 130 135
3010 RHTET 23 25 3 30 19 18 32
3020 T ET 28 29 33 32 28 23 29
3030 L+ EET 22 19 27 26 36 30 26
3040 =1z 0] 3 5 3 3 1 9 6
3050 o B BT 67 56 55 57 48 52 47
3060 HETHET 11 5 7 10 11 11 10
3070 T BN RT 13 12 13 11 12 9 12
3080 H T 15 14 16 16 10 13 7
3090 H R ET 14 11 10 18 8 12 10
3100 s2==lsic: ) 8 14 13 20 13 21 6
3110 zZl==pId:1) 10 13 12 15 4 10 9
9999 INTFEREXE 214 203 224 238 190 208 194
3510 SR 4 4 4 8 2 2 3
3520 E R hHET 11 10 16 8 11 11 7
3530 ERTHT 26 25 25 25 34 32 28
3540 Z R KHET 7 8 13 14 712 11
3550 AEFHT 18 19 19 17 18 14 17
3560 = T ERHET 2 9 10 9 8 4 8
3570 = e 14 19 16 20 27 18 25
3580 3 L BT 27 15 14 13 14 11 15
3590 TEHT 1 0 0 0 0 0 0
9999 SHBEEXE 110 109 117 114 121 104 114
4010 )1 g ET 9 11 5 10 13 5 9
4020 fE&HT 1 1 2 3 2 6 3
4030 1SET 9 6 7 9 7 6 6
4040 = HE A ET 2 7 7 4 4 6 8
4050 7K E/T 9 13 10 14 5 12 12
4060 B2 4 AT 8 11 7 4 10 8 11
4070 At [ ET 8 3 2 6 5 2 7

47

226
16

a1 N —_
HOO—=ad9b

OO —=00W—=wWwWOo— 0

12
199

48

190
16

o1 = N
N O d DS

—_

w
APdLOOOOCOGOTO—~WONOG

N - 5~ 1
NNOOOI— 01— O

144
23
38
27

56

10
13
19
11
220

15
24
13
17

31
10

123
10

12
10

49

190

ol = —_ —
wWwouo

—ONOOOPMNOIPdMOOIO

206

21

25

23
13

101

NdbhOW—=O



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (AF)3—F {TIRET (KF) 4 40 M 42 43 44 45 46 47 48 49
4080 =T iHiRT 6 4 6 5 5 11 5 2 4 5
4090 R ET 10 9 8 5 7 7 8 4 10 8
4100 A EFNET 3 2 4 1 1 0 2 1 5 3
4110 Jt S FOET 4 2 4 1 3 4 4 3 2 5
9999 R XET 69 69 62 62 62 67 75 60 73 67
4510 ERE—ZHT 15 10 17 18 12 14 17 10 25 18
4520 B FKMET 2 4 5 7 4 3 1 9 2 7
4530 AREE=FHET 3 3 2 0 3 0 3 5 5 3
4540 EREE U EHT 1 4 2 2 4 0 3 3 4 3
4550 AR FHHET 1 1 1 5 5 2 2 4 4 3
4560 EREENTEET 0 0 0 0 1 0 1 2 1 0
4570 L FET 8 4 3 2 3 1 5 3 7 2
4580 AR )\ FEHT 6 2 1 0 0 1 3 0 0 0
4590 EREE N TEHT 5 1 4 2 1 5 0 3 2 1
4600 ERE+ZHT 5 3 0 3 1 1 5 3 3 2
4610 EREE+—FHET 2 4 4 4 6 2 4 2 2 0
4620 B+ — FKHET 6 2 7 3 5 6 6 3 4 4
9999 BERRET 54 38 46 46 45 35 50 47 59 43
5010 REF0 B /T 2 1 6 6 3 3 5 5 9 4
5020 AR FNBA 5T 4 6 5 4 4 3 6 3 3 3
5030 REFNE{— /T 4 6 3 1 6 5 1 7 4 4
9999 AR X &Y 10 13 14 11 13 11 12 15 16 11
5510 b R ET 3 3 8 4 10 8 4 6 8 3
5520 = Hh BT 26 25 12 21 19 9 10 6 15 12
5530 =T 11 13 14 15 14 15 11 11 11 12
5540 T 7 6 4 6 3 2 10 6 10 1
5550 BET 1 0 2 0 0 0 2 0 0 0
9999 =X E 48 47 40 46 46 34 37 29 44 28
6010 it BT /N BR 0 2 4 5 1 1 3 3 3 2
6020 fif] BT e 3 0 2 2 0 2 3 0 2 2
6030 fE BT 2 )1 1 3 1 0 2 1 1 2 2 4
6040 13 FFET 5 3 1 8 4 3 4 5 5 4
6050 JIIEHET R 1 1 2 4 6 5 4 6 6 4
6060 JIIEBETEE 2 2 1 5 3 6 2 3 2 2
9999 BEERRXET 12 11 11 24 16 18 17 19 20 18
6510 H&EA#EAHET 0 1 0 0 1 0 0 1 0 0
6520 H&E A KEHT 5 3 6 2 8 1 1 5 4 4
6530 B &R AFTHET 1 2 4 1 0 5 3 3 4 2
6540 HEAILUTH 1 7 3 4 3 4 4 4 3 4
6550 BEAM 2 NET 3 3 2 2 2 3 2 2 2 2
6560 HEAEILHT 3 1 2 1 2 2 2 3 3 2
6570 HEAGFHET 5 0 3 2 2 1 5 5 2 1
6580 HZEARHT 0 2 0 0 2 0 0 2 0 0
6590 HEARHE 1 1 0 0 2 0 1 2 0 1
6600 HZEAGHT 1 0 1 1 0 3 3 2 3 0
6610 HZEA LT 1 0 0 1 0 0 3 1 0 1
6620 HEAGFHT 1 1 0 0 1 1 1 1 1 1
6630 HEATHAET 0 1 1 2 0 1 1 2 3 3
6640 HEA EHBHT 0 0 1 1 0 1 0 0 1 0
6650 HZEASHE 0 0 0 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 0 0 0 0
9999 HEARRKE 22 22 23 17 23 22 26 33 26 21
7010 ZRiMORT 3 2 1 1 1 3 2 0 5 5
7020 ZRKHT 9 7 13 8 5 7 4 3 8 3
7030 Z RIRHAET 0 2 2 1 1 2 3 2 0 1
7040 ZRTXKEHET 7 3 2 3 3 6 7 6 5 4
7050 Z RETHISHET 4 2 3 4 2 2 2 1 1 0
9999 ZRBREXE 23 16 21 17 12 20 18 12 19 13



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET(KF)3—F {TEHET (KF) £ 40 M 42 43 44 45 46
8011 IRAETFEERLY 1 1 0 0 1 0 0
8012 IRABTERERA 2 1 1 1 3 3 7
8013 IRABTEER (& 1 2 0 0 3 0 0
8021 IR AHETIZRKLY 1 0 1 1 1 1 0
8022 IRAHETRKA 0 0 0 0 0 0 0
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 4 2 1 1 3 7 2
8032 IRAET R A A 0 0 0 1 1 0 0
8033 IRAET R A 1 1 1 1 0 0 1
8041 IR AETEEIFLY 0 0 0 1 0 1 1
8042 IRAET LR A 0 0 0 0 1 2 3
8043 IR AET LR 0 0 0 0 0 1 0
8044 IR AET AR 0 1 0 0 3 0 1
8045 IR AET LR 1 1 2 0 2 1 1
8050 IR AHET IR A 2 1 1 4 2 4 1
8060 F N b ] 3 4 3 0 2 1 0
8070 IRAETER 1 3 1 0 3 1 1
8080 IR A BT S %A 0 0 1 0 1 0 0
8090 IRAETEE 0 0 0 1 0 0 0
8100 IRAETH /R 0 0 0 0 0 0 0
8110 P A< BT 11553 0 1 0 0 1 2 0
8120 IR AETEEME 1 0 1 1 0 0 2
8130 IRAETA E 0 1 2 2 0 5 1
8140 IRAETEEERT 3 2 0 1 2 2 4
8150 IRAETEEERL 1 1 1 1 1 1 2
9999 IRARR X ET 22 22 16 16 30 32 27
9010 FTHEHAREH 11 11 16 14 14 17 15
9020 FTHEHIEER 5 12 8 15 6 9 12
9030 FTHEI#%#H 31 37 37 37 31 24 24
9040 FTHEHRH 30 37 40 32 45 26 52
9999 FTHREXE 77 97 101 98 96 76 103
9110 FEETTHEIE 9 17 18 7 18 17 15
9120 SERTHIE 8 8 8 4 4 2 7
9130 FEETRE 3 3 5 4 2 5 2
9140 SRET T AT 9 14 13 11 12 13 9
9150 SERT L 45 11 10 16 11 13 12 11
9160 SEATEE AT 18 27 14 18 20 18 16
9170 =ETNE 26 21 28 17 28 18 28
9180 SEETER 10 15 18 11 9 16 11
9190 f=ETZ A 4 4 7 4 6 4 4
9200 SEETET IS 6 7 6 2 5 2 2
9210 SEETEH 11 12 9 10 15 11 8
9220 SR ET R 16 15 15 15 17 12 5
9230 SEET B M 11 10 14 17 22 9 16
9240 SRETIE R 6 5 4 5 5 3 7
9250 $ERTIL Frth 22 13 9 17 8 14 12
9999 FERXET 170 181 184 153 184 156 153
9310 B SHET AR 0 5 3 5 6 2 2
9320 RSETIE 5 7 6 8 4 6 8
9330 R ISET/INA 3 4 2 3 2 2 4
9340 RISHETE 7 11 7 3 6 9 7
9999 R XE 15 27 18 19 18 19 21
9410 RETTE 7 10 3 4 6 4 5
9420 RETHIE 2 4 4 4 2 4 6
9430 SRETEXR 1 3 5 0 3 3 4
9440 RETAEF 0 0 0 0 0 0 0
9450 SRETHER 1 0 1 0 1 0 0
9460 RETCHE 1 2 0 1 1 0 0

N

. —_ N = —_ - - —_ 0 WN = w
NDODWNNJWOPRARINOPDNIIOWOOSOOOOONNOPMNOOOO -2 == 00 —~=-N—-00NOOCWW—=—=4

165

OCOONDPMOOJIOTWW

AR WN—-OO0OO—-PANMMODODOWOO - =000 W—=0

—_ —_ = N = — O WN = =W
OO hWOLWONDDDODDTOONOOW—=W-—

16

16
174

11
20

OO =0 h~o©

WNDBANO-=NNNOONMNNNOO OO W—- 00O —-WwWwwo

41



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TIRET (KF)a—F {TIHET (KF) & 40 41 42 43 44 45 46

47 48 49
0 0 0
2 1 3

17 23 22

9470 RETEXR 0 0 0 0 0 0 0
9480 SRETHER 2 1 1 3 3 2 1
9999 REEXE 14 20 14 12 16 13 16
99999 =11 1552 1544 1575 1567 1568 1476 1508 1507 1617 1449



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

FEET (KF)a—K {TIHET (KF) 4

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
9999
510
520
530
540
550
560
570
580
590
600
610
620
9999
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290

Hi BT

JE& L BT
AT

SRHT
AH—TH
AHZTH
ABT=TH
F TR ET
78 0 T4 AT
Jb o HLHET

H T HT

FR T AT
& FHT
e

& FHET
RBREE
ABTETH
HEFERT
J\EHET

15 EHT

SENET

EET
HAE—TH
IR ET
B HET

L FHET

B A ET

CicY o)

K HET

F _LHT

K [ ET

& HHET
BiEHT
FRER
f21EHT

f21E JTHT

+ & HT

Fx R ET
FRET—TH
FEETZTH
H7KET
EE&NET
FEFAET
KXFE—TH
KFEZTH
$ET

HXET

=B

TE =BT

B RE
EEET

R A BT

fRET

50

N

—_

—_ ©

—_

(2]
NOWOOWOWLWOWN—-WNYNLWO—~NOOON—~~ 4O DhWLWwW

—_ _ e ) -t
— O Oo0ON Ol b~ —=

WWW—-=NWUTaGWWhLhWWLWNIJOTO =0 —

—_ (&)
AIdNOOIT—=0—=W—=DNWOI =

I

—_ —_
H OO

116

ODWOIOPRARWOUOUIONWNNOIOO O W —

o1

—_

—_ © w

—_

(=2]
OO0 -0 WNO == PAN—-0000000GOP~,LOUNOOPGITON—-=-IADN

NOOGWOOhhOWWWLWWDRAPANW—LONMNOJ

53

—_—

N

N ©
CITWOUIOOWNNOOONN—- OO0 PRPAODUIUI—=WONONWOL

N

~

—_ - - —_ ek ok -
— OINJWOO JWO

NOOWNOOROOT—=OCTWOOUIOOOOWOW

(&,

N
O OOITWNWOUIOINOCIOOWOOOPRASOOUNOOINNOWOA~D

~

—_ —_
0O wWwWwoou

_ e =t N =
00O~ OOOJOOO

GO, DPDOOODWPRARWNNMNONMNNOO—-=NW

(&)

N

© —_
NOOOJOMNMNONODRARJWOPROPRPRWO - JODDBDNOOGIOGINOWOIO

—_—

—_—

(&)

- = ROOCTWOOSSPRARWDAPDPDNOOOIO — 01 WO

(&)
ONWOUINOONOIWOIOS

— — —
OO~

— 0o
Ol — D —

—_
(2}

- N
OO ON—-=Oh~M©

N —_ N = = - = (o)
AdNMNOON—=OCOADN

—
ANJOPAANO—-~P_RONJOTODRA-=2DNANO

(&)

—_
OPhOONNMNPAEANAAJOIJ

— N
WNOOTOO PN~ D

—_
o O

16

AP WONDD=2DDOOOOTWNORAINONO

($)]

w

—_

—_ ©

N

i G G G G G Y o))
O WO JO—-=0UIN—-0ITWOWOOW=—-===NhL=INOTTODMNPLPWO—LJOPA~—-=00Pho0wWN O

GO PO WWWOIOO =00 = =N b

(3)]

—_—

w

—_—

—_ )

—_—

~
WPAhOOCTOOOINOI—- IO ONDPAOOOSODOGIOIOORAOTWWNO AW

—_
N

—_—_ m N = = =
~NWOO W=

OWPhW—= 00000 —-O0ONWO -5~ Db



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 50 51 52 53 54 55 56

1300 A ZEMT 4 4 4 3 3 4 5
1310 KRIGHET 3 1 2 4 7 2 4
9999 A HEEXE 160 211 203 196 224 187 228
1510 HEHD L BT 24 25 22 12 16 16 18
1520 HE T ET 17 17 9 14 23 19 25
1530 HE#0 ST ET 5 12 10 8 8 6 9
1540 KigFHT 12 10 17 12 8 19 17
9999 FERNAR: X B 58 64 58 46 55 60 69
2010 = EHRHET 3 10 4 1 4 5 5
2020 %= EFhHET 11 5 7 8 10 6 6
2030 JENHT 0 0 0 1 0 0 0
2040 HET—TH 4 13 5 5 3 5 3
2050 WET—TH 7 5 3 1 2 5 3
2060 ¥o HE T 1 1 0 1 2 1 1
2070 FRET—TH 5 7 8 2 3 11 7
2080 FRETZ=TH 2 3 7 3 9 5 3
2090 =g 31 43 37 35 54 51 37
2100 ==bld:] 6 3 10 2 6 4 4
2110 FENNFTET—T B 12 9 8 12 5 8 5
2120 HEHIFTET —T B 7 9 8 10 5 2 5
9999 ZEREXE 89 108 97 81 103 103 79
2510 FA U BT 37 60 40 48 53 59 54
2520 K B2 ET 39 35 38 35 31 30 40
2530 =/NEET 12 5 9 7 15 12 12
2540 FHi5HT 13 10 11 13 17 12 13
2550 SRET 6 8 4 5 4 6 8
2560 = BT 33 25 20 19 16 23 20
2570 KEHRT 0 1 1 1 0 2 3
9999 WERXE 140 144 123 128 136 144 150
3010 RHTET 21 24 24 31 21 24 24
3020 T ET 38 20 24 22 24 17 22
3030 L+ EET 22 31 24 18 21 21 19
3040 =1z 0] 2 2 5 3 3 2 5
3050 o B BT 4 62 40 42 46 67 49
3060 HETHET 12 13 12 15 13 17 16
3070 T BN RT 15 11 10 9 6 10 20
3080 H T 7 7 9 10 6 10 8
3090 H R ET 8 9 5 9 12 9 9
3100 s2==lsic: ) 9 13 12 16 10 13 14
3110 zZl==pId:1) 14 15 12 16 9 17 17
9999 INTFEREXE 192 207 177 191 171 207 203
3510 SR 5 5 13 8 6 7 9
3520 E R hHET 12 7 7 9 7 9 11
3530 ERTHT 20 25 26 30 29 21 26
3540 =B RHT 6 17 9 8 17 15 10
3550 AEFHT 30 14 20 18 21 29 20
3560 = FERHET 8 1 4 7 8 16 6
3570 = e 14 13 21 6 21 21 18
3580 3 L BT 12 12 17 5 18 10 14
3590 TEHT 0 0 1 0 0 1 0
9999 SHBEEXE 107 94 118 91 127 129 114
4010 )11 R BT 10 1 7 8 6 5 5
4020 fE&HT 2 3 1 1 3 2 0
4030 1SET 4 8 7 8 7 6 7
4040 = HE A ET 8 4 5 8 2 8 5
4050 7K E/T 6 9 13 18 15 14 14
4060 B2 4 AT 10 8 4 5 8 4 7
4070 At [ ET 2 6 6 9 8 6 3

57

204

114
59
35

12

39

164
28
24
13

49
16
12

13
21
196

32
10
25

24
15

126
10

w

Ol d =

58

192

ON = =W
ook Oo—

(&2
GQWoONMNOaNMNTOGONODN

—_
N

99
55
35
15
22

146

59

206

o = = N =
W —=wH

()]
COCOONNOOONWIPRO O

_.
N = A A
O WUl ® WL ©

143

190



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 50

4080
4090
4100
4110
9999
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4620
9999
5010
5020
5030
9999
5510
5520
5530
5540
5550
9999
6010
6020
6030
6040
6050
6060
9999
6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610
6620
6630
6640
6650
6660
9999
7010
7020
7030
7040
7050
9999

=;TiHET 10
FR BT 9
A EFNET 4
Jt S FOET 1
R XET 66
ERSE—ZRHT
EREE — ZRHT
BRE = /AT
AR FHT
ERE T BHET
EREENTEET
ARECHET
AR )\ EHT
AR N FHET
ERE+ZHT
EREE+—FHET
ERE+ —FHHET
BERRET
REFN B S HT
AR FNBA 5T
AR FNE{_HT
AR X &Y

o RET

= Hh AT
Cick=y:)

T EEET

BHET
=R X E
REI T /INER

fit] BT eh

fE BT 2 )1

13 FFET
JIIEBTER
JIIEBET Y
BEERRXET

B & A#EAET
H&E A KEHT
B &R AFTHET
HEAILTH
BEAM 2 KET
HEAEILHET
HEAGFHET
HEXAEHT

H & ARHE
H&EAHT
HEA LTEHT
HEAHFEHET
HEATHGHE
HEA EHBHT
HEAKHET
HEAFRHET
BEARRE
ZRMOmT

Z RKHET

Z RIRHET

Z R T KEFHT
Z RETHISHET
ZR&EXE

—_
©

N

—_

—_

N

—_

w
NWO—-OOARANOO—-=-NNODOWPRLRWDARONOUUOINNOOGTWWRANOWPOCOPRLPWNNDPON—=OWNOWWNRA—=IN

N

o1
a1 N

_.
N
- o>
-
oo

I
m—k

(&)
P ODDAAWWO—=WNWAOJ

—_—
—_—

—_
—h
N
o

—_
(&)

—_
—_
—_
N Ol

w
w
I

N
—h
N

N
w

WhWOPLPhOPAAPPO—,LTWLWOWWLWO O —~DPhWUW—-PA_—-0—00—-=-NMNOPLP=~DPLOUWw—~wLWUhhoooTuo 0000 == -=-"NbbogOCO0wWhrLhhJ
N

NWOIWOIUIOOO OO - P —=-NAA=2 == DNOPLPP-00T W W——JWDPDhW—LO0OOODAJOOTITOITO—-=NORA-=NAEANO

GNP ODPAJOOO O == W= =DNNOOOAORL-=-N—- OO NWO© -0

N
N
N

54
7
12
3
3
74

—_
©

(=]

S Y N
N NdOWNNOO L OW=DNN-=NBENNOOPLPONOOCGITONTCGONNONPAMAPOOONONPRDOWWODNANOGIOIOO O

N

N

—_

wW

(&)

N

(8]
CTWWOAITNWNOND=-NWOIWNNOOOLWO 1Ol

11

—_—
—_—

N

=N
WO - 14O~ 00 -0 WW—-0IOOWWPAN—-=-WOLON A

N

~ - (&)
NO O Wo O

N
WwoohwoNMN—_OONOG N

w

N

—h
O©COT—- WO PAOOO - NWO—-WLUN—-_"TN—A—-~J—0O0 PO

N

N O — - ($]
— AN ON O

(2]
DO O WPAONNONMM—-ADdM—~OOO O

—_—

- O~ b

45

I
WOONOOPA,—LO0O0O0OOWO—--N—-O0OOWWPrOpMO

w

($)]
(-]
(&)
©

m—k

DO wWwwoo
oo —_ —_
00 w©WwooN

—_
©
N
wW

APWOLWOOW—=DPOPLDD-=2DNP,~,O®
(=]

—_—

- N

I

N
N

N

N
OO —ONNOOMNWO—-=Ph—-=-NOPL~—WPphOWPPOaOPRPOOUOOOOWPROPOI—O =0 -="NANPPLOLLOPRLWPEP~O

—~ WOINOWPROO—=NO-SN-=DNNO-=NWUUINOWONNPRMOOUTO Gl N

N
N



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 50 51 52 53 54 55 56
8011 IRAETFEERLY 2 3 1 3 1 3 3
8012 IRABTERERA 8 5 4 7 4 9 5
8013 IRABTEER (& 1 1 1 1 2 0 6
8021 IR AHETIZRKLY 0 2 2 2 2 1 2
8022 IRAHETRKA 0 0 0 0 0 0 1
8023 R AETFRK & 0 0 0 0 0 0 0
8031 IRAHETR ALY 5 6 1 4 6 3 1
8032 IRAET R A A 0 0 0 0 0 0 2
8033 IRAET R A 0 0 0 0 0 0 3
8041 IR AETEEIFLY 0 1 0 1 1 1 2
8042 IRAET LR A 0 1 1 2 3 2 2
8043 IR A HT B605% (X 1 0 1 0 1 0 1
8044 IR AET AR 0 0 0 1 0 2 3
8045 IR A HT 860% (F 0 0 1 3 0 4 1
8050 IR AHET IR A 2 8 2 4 1 3 7
8060 F N b ] 5 2 4 3 5 7 9
8070 IRAETER 3 1 3 1 4 4 4
8080 IR A BT S %A 1 0 0 1 2 3 6
8090 IRAETEE 3 1 1 0 0 1 2
8100 IRAETH /R 0 0 0 0 1 0 0
8110 IR ASHET )1 53 0 1 0 1 1 4 1
8120 IR AETEEME 1 4 1 2 1 3 1
8130 IRAETA E 2 4 1 2 5 4 2
8140 IRAETEEERT 2 5 5 4 4 4 3
8150 IRAETEEERL 3 2 3 3 2 4 2
9999 IRARR X ET 39 47 32 45 46 62 69
9010 FTHEHAREH 12 24 13 20 15 10 12
9020 FTHEHIEER 6 10 13 12 7 13 4
9030 FTHEI#%#H 20 30 30 27 26 32 28
9040 FTHEHRH 31 38 41 34 31 40 47
9999 FTHREXE 69 102 97 93 79 95 91
9110 Fi =R 13 6 21 19 13 9 8
9120 =BT A& 9 9 5 6 5 3 4
9130 FEETRE 5 2 2 7 6 6 3
9140 SERT T A 8 15 9 12 14 16 16
9150 SERT L 45 9 12 9 11 20 15 19
9160 SEATEE AT 22 17 17 16 15 22 18
9170 =ETNE 23 21 25 25 30 27 31
9180 SEETER 17 16 11 14 17 15 16
9190 f=ETZ A 7 1 2 3 3 7 3
9200 SEETET IS 10 5 4 9 9 12 8
9210 RETE 12 5 9 8 6 21 14
9220 SR ET R 10 15 22 16 14 13 14
9230 SEET B M 14 17 17 18 19 23 24
9240 SRETIE R 6 12 9 13 4 7 14
9250 $ERTIL Frth 9 14 18 18 12 14 14
9999 FERXET 174 167 180 195 187 210 206
9310 B SHET AR 6 3 2 9 11 14 3
9320 RSETIE 6 7 9 8 8 6 9
9330 R ISET/INA 5 4 7 1 6 4 9
9340 RISHETE 13 23 10 12 15 9 7
9999 R XE 30 37 28 30 40 33 28
9410 RETTE 10 16 10 11 8 12 10
9420 RETHHE 5 5 5 5 5 8 4
9430 RETEXR 4 1 5 2 5 3 6
9440 RETAEF 1 0 0 2 1 0 0
9450 SRETHER 0 2 0 2 0 0 1
9460 RETCHE 2 0 0 0 1 3 2

NDBDWWOOWNWOAOPRARONONWOOUIOOWMAMAOOOJ

187

ODWPAhWNOOPLLRWLWAIOAPL,POW—=L—=—=00O0CWNN IO

N
o o O

W W
E- )

100

23
11
13
24
21

12
13
15
20
15
22
214

10

34
18

— O =~

— O (3)]
NNWOAOAWN—- WO -0 PhoTWO - 0WO—-01IOON—-O —©

N —_ - - NN — — — —_ O W W
WA JOWOORATTOODTTWOOOOO O

212

15
38
13
12

N — —



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 50 51 52 53 54 55 56

57 58 59
1 0 0
2 0 2

27 31 38

9470 RETEXR 0 0 1 0 0 1 0
9480 SRETHER 1 3 1 4 0 1 2
9999 REEXE 23 27 22 26 20 28 25
99999 =11 1468 1620 1535 1556 1625 1684 1735 1769 1699 1759



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

FEET (KF)a—K {TIHET (KF) 4

10
20
30
40
50
60
70
80
90
100
110
120
130
140
150
9999
510
520
530
540
550
560
570
580
590
600
610
620
9999
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290

Hi BT

JE& L BT
AT

SRHT
AH—TH
AHZTH
ABT=TH
F TR ET
78 0 T4 AT
Jb o HLHET

H T HT

FR T AT
& FHT
e

& FHET
RBREE
ABTETH
HEFERT
J\EHET

15 EHT

SENET

EET
HAE—TH
IR ET
B HET

L FHET

B A ET

CicY o)

K HET

F _LHT

K [ ET

& HHET
BiEHT
FRER
f21EHT

f21E JTHT

+ & HT

Fx R ET
FRET—TH
FEETZTH
H7KET
EE&NET
FEFAET
KXFE—TH
KFEZTH
$ET

HXET

=B

TE =BT

B RE
EEET

R A BT

fRET

60

_L: D
— OO0 WO OoOUa~NNDOOOPR~,OOOIN

—_ —_
NN O

—h
—_ NN - o w
— QW= WO 0O h—=-N,~OG

—_
O

SN OPRATTONNdNRAA LT 0LCOOO—O1

()]

w

— ©
I OO OO ONOODROOONNINOOTO MO =

—_ -
GIN—=DNN

w

—_ N — — — — ©
COONIDIODIWOWJOOOu = O

—_
oo wWhooOOTWhAhWPANOPNMAJOOIONWO ©

62

—_

—_ —_ w

—_

(0]
O©C O ONOPALANOOWO-_—NOOIWPARhOOOW—-O0OOOPAANOGIONJOOITOOOGIN OO

—_

— AN - OJWONWUTOP,LL,OWO =~ O

63
2
3
5
7

11
7

10
0
5
3

33
9

11
0
7

113

15

©OCooOON—=—NOMMTTOOCOTDAAJIOO—-M~O

—-
o b

—_

w
SWoa OO DOOOO

—_
OoN

14
123

AONONAANOOODR_AJOOTOGOAPRL,OOOW

127
17

—_—

OO OONN—==JdphoOoO®

OO —-WW—=WhID

— —
GO BNNBENNYNONONOCOCOO~WDNS

— OO WO

130

GO WO O NN~ —=L01O0ONWW

(=)]

—_—

w

—_—

—_
o
OPRWOO—- OO TCIONOCTITWNONORAOCOIOTWWW®

—_—

— O
N ©

—_ ek ek ek ek ek
oo o0 hJO—

NOWOPRhWPADDWWNNIDADDO—=ONDN



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 60 61 62 63 64 65 66

1300 A ZEMT 4 3 2 4 2 6 2
1310 KRIGHET 5 3 0 2 1 2 0
9999 A HEEXE 223 230 183 224 192 240 259
1510 HEHD L BT 21 22 22 19 14 31 25
1520 HE T ET 22 29 21 24 24 37 26
1530 HE#0 ST ET 11 14 8 13 7 12 13
1540 KigFHT 19 20 25 18 20 22 21
9999 FERNAR: X B 73 8 76 74 65 102 85
2010 = EHRHET 5 2 3 4 4 6 5
2020 %= EFhHET 5 6 6 8 7 6 7
2030 JENHT 0 1 0 0 0 1 3
2040 HET—TH 5 2 4 3 8 8 8
2050 WET—TH 8 6 4 9 6 10 7
2060 ¥o HE T 2 2 3 1 0 2 3
2070 FRET—TH 10 6 6 9 8 9 13
2080 FRETZ=TH 7 3 5 9 4 6 10
2090 =g 50 56 67 67 65 58 87
2100 ==bld:] 1 11 8 9 6 4 9
2110 FENNFTET—T B 6 8 7 11 11 11 4
2120 HEHIFTET —T B 12 12 10 8 10 13 7
9999 ZEREXE 130 115 123 138 129 134 163
2510 FA U BT 46 54 55 47 53 60 68
2520 K B2 ET 34 31 44 31 37 41 46
2530 =/NEET 12 15 12 16 12 10 14
2540 FHi5HT 8 10 16 21 23 11 23
2550 SRET 13 8 6 7 11 7 3
2560 = BT 27 32 30 25 31 33 38
2570 KEHRT 1 3 1 5 4 3 6
9999 WERXE 141 153 164 152 171 165 198
3010 RHTET 19 28 28 31 38 34 38
3020 T ET 24 21 27 33 32 25 37
3030 L+ EET 17 22 23 17 22 24 12
3040 =1z 0] 7 3 5 7 7 2 5
3050 o B BT 50 68 50 53 50 62 71
3060 HETHET 12 18 11 17 14 19 21
3070 T BN RT 18 11 14 18 18 20 22
3080 H T 8 11 7 7 10 16 8
3090 H R ET 4 8 5 11 8 19 11
3100 s2==lsic: ) 14 16 15 17 10 16 11
3110 zZl==pId:1) 15 12 14 11 14 20 17
9999 INTFEREXE 188 218 199 222 223 257 253
3510 SR 5 4 7 7 6 13 10
3520 E R hHET 10 11 12 12 5 10 20
3530 ERTHT 25 30 25 39 39 33 25
3540 =B RHT 9 7 11 16 14 16 15
3550 AEFHT 34 25 30 27 19 23 30
3560 = FERHET 14 17 12 14 9 10 15
3570 = e 21 23 3 33 23 37 33
3580 3 L BT 17 19 18 10 16 27 15
3590 TEHT 0 0 0 0 1 1 0
9999 SHBEEXE 135 136 145 158 132 170 163
4010 )1 g ET 11 9 7 8 13 18 15
4020 fE&HT 3 0 2 7 4 3 2
4030 1SET 5 7 7 8 17 9 9
4040 = HE A ET 6 4 8 9 7 7 3
4050 7K E/T 11 17 19 14 19 25 12
4060 B2 4 AT 12 8 11 12 11 5 9
4070 At [ ET 5 2 3 4 5 3 5

67

289

159

206

20
265
11
17
44
22
38
13
35
31

212
18

16

21
12

68

229

— ON = WN
ONWNO

~
~NPhAPJODRANDOO—=Y

—_
N

145
A
40
18
23

36

201
33
38
28

53
19
17

16
230

15
25
15
34
10
37
16

163
19

10
13

12
12

69

207

138
54
30

20

37

156
29
35
16

59
17
10

13
208

10
21
14
18
11
26
19

126
16

11

15
13



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 60 61 62 63 64 65 66
4080 =T iHiRT 10 4 6 11 10 7 9
4090 R ET 8 8 13 14 9 10 8
4100 A EFNET 15 10 7 6 3 5 4
4110 Jt S FOET 1 13 7 8 2 7 7
9999 R XET 97 82 90 101 100 99 83
4510 ERE—ZHT 24 32 29 25 35 35 31
4520 B FKMET 9 3 9 10 7 7 9
4530 AREE=FHET 4 6 5 6 7 3 6
4540 AR FHT 3 7 3 5 6 3 6
4550 AR FHHET 6 3 2 3 2 2 0
4560 EREENTEET 1 4 2 1 3 2 1
4570 ARECHET 1 1 3 5 5 2 5
4580 AR )\ FEHT 3 3 2 3 6 7 2
4590 AR N FHET 7 6 3 3 4 6 3
4600 EREE+ZRHT 4 2 5 2 1 0 2
4610 EREE+—FHET 6 1 6 6 3 4 3
4620 B+ — FKHET 5 8 12 6 7 7 9
9999 BERRET 73 76 81 75 8 78 77
5010 REF0 B /T 5 3 8 13 6 5 8
5020 RE FOBA 4 ET 6 8 1 6 10 6 11
5030 REF0E{_HT 4 5 8 8 4 3 6
9999 AR X &Y 15 16 17 27 20 14 25
5510 b R ET 4 11 15 17 11 6 9
5520 = Hh BT 13 19 14 13 19 23 30
5530 =T 15 14 14 16 28 14 14
5540 T 13 7 15 18 12 7 12
5550 BET 0 6 5 1 3 3 6
9999 =X E 45 57 63 65 73 53 71
6010 [iE] BT /)N B 4 6 6 3 2 3 5
6020 fif] BT e 4 3 5 11 2 7 4
6030 [ BT &)1 2 6 8 3 1 3 5
6040 13 FFET 13 9 11 11 9 7 10
6050 JIIEHET R 12 5 4 8 4 6 9
6060 JIIEBETEE 3 8 9 9 10 5 8
9999 BEERRXET 38 37 43 45 28 31 41
6510 H&EA#EAHET 0 2 0 3 0 0 0
6520 H&E A KEHT 6 11 12 9 7 11 15
6530 B &R AFTHET 3 7 9 7 3 7 4
6540 HEAILUTH 6 11 4 12 10 4 7
6550 BEAM 2 NET 3 11 1 6 4 7 1
6560 HEAEILHT 7 5 5 4 2 8 5
6570 HEAGFHET 6 4 3 2 5 8 11
6580 HZEARHT 2 7 7 4 4 6 5
6590 HEARHE 2 0 2 1 3 1 2
6600 HZEAGHT 4 4 4 5 5 3 2
6610 HZEA LT 2 2 5 2 1 2 1
6620 HEAGFHT 2 2 0 2 2 3 4
6630 HEATHAET 2 3 6 4 2 1 6
6640 HEA EHBHT 0 2 4 1 3 3 3
6650 HZEASHE 0 0 0 0 0 0 0
6660 HEAFRHET 0 0 0 0 0 0 2
9999 HEARRKE 45 71 62 62 51 64 68
7010 ZRIMOm 7 8 7 4 8 9 8
7020 ZRKHT 7 10 6 16 11 15 12
7030 Z RIRHAET 5 2 7 10 9 5 5
7040 ZRTXKEHET 8 18 10 14 10 2 14
7050 Z RETHISHET 2 5 4 2 6 9 7
9999 ZRBREXE 20 43 34 46 44 40 46

67

13

119
30

[oc)
P WODRADOOTITANWOOOPNMO N

—_ =N —_
O N w

[($)]
o

—_—

OO OO wWwww—-ph—-O0ObhoooopOwWwooIJO1I b

68
11
11

113
27

—_

- d
OO ODNOOOGOINN—==DNNWOG

—- W =N
HWN O

—_

OCOMNPOMNWAADPDONNWON—-=-DNOCIOOLOWOO IO h~J

69

14

101

w
N —

—_—

~ —
NWO OO ON—-=-NW—===01N

(3] —_ N = —_
OONNONO O

N

—_—

()]
CITOITOITOOODWNOOW—-WNORA—=-DOOITWOUOIOONNOONN N

N



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 60 61 62 63 64 65 66
8011 IRAETFEERLY 3 1 3 3 2 7 3
8012 IRABTERERA 5 3 7 9 7 6 3
8013 IRABTEER (& 2 2 2 3 6 5 7
8021 IR AHETIZRKLY 7 2 2 8 4 4 7
8022 IRAHETRKA 0 1 0 0 0 0 0
8023 R AETFRK & 0 0 0 2 0 0 0
8031 IRAHETR ALY 4 8 11 4 5 14 8
8032 IRAET R A A 2 0 0 0 1 0 1
8033 IRAET R A 1 1 2 0 0 2 1
8041 IR AETEEIFLY 3 1 2 3 2 2 5
8042 IRAET LR A 0 2 1 1 0 2 4
8043 IR A HT B605% (X 1 2 1 0 0 0 3
8044 IR AET AR 1 0 1 0 1 2 0
8045 IR A HT 860% (F 1 2 0 0 3 1 3
8050 IR AHET IR A 5 8 5 8 4 6 4
8060 F N b ] 8 6 1 1 7 9 6
8070 IRAETER 9 7 7 4 14 8 8
8080 IR A BT S %A 3 4 2 3 2 5 1
8090 IRAETEE 2 0 3 3 2 5 2
8100 IRAETH /R 0 0 1 2 0 1 1
8110 P A< BT 11553 1 1 1 2 3 3 0
8120 IR AETEEME 2 7 2 2 3 4 3
8130 IRAETA E 0 0 5 5 1 4 1
8140 IRAETEEERT 7 12 5 6 5 8 5
8150 IRAETEEERL 1 3 2 9 6 7 8
9999 IRARR X ET 68 73 66 78 718 105 84
9010 FTHEHAREH 23 19 16 18 23 21 28
9020 FTHEHIEER 8 16 14 12 15 16 21
9030 FTHEI#%#H 33 41 39 26 38 32 41
9040 FTHEHRH 34 39 40 41 46 35 44
9999 FTHREXE 98 115 109 97 122 104 134
9110 FEETTHEIE 11 12 14 15 24 18 21
9120 SERTHIE 10 13 10 6 11 11 13
9130 FEETRE 5 7 4 4 1 9 6
9140 SRET T AT 18 14 8 14 25 17 23
9150 SERT L 45 20 13 16 19 15 15 23
9160 SEATEE AT 22 21 20 22 30 15 25
9170 =ETNE 25 32 17 24 30 26 29
9180 SEETER 15 28 11 32 16 16 23
9190 fRETZ O 13 9 9 8 6 9 10
9200 SEETET IS 8 2 8 5 8 14 12
9210 SEETEH 10 16 15 14 13 14 21
9220 SR ET R 21 15 13 17 19 15 18
9230 SEET B M 21 21 31 27 27 20 35
9240 SRETIE R 11 9 9 12 5 9 13
9250 $ERTIL Frth 15 23 16 23 19 12 12
9999 FERXET 225 235 201 242 249 220 284
9310 B SHETA{R 10 7 10 8 7 8 6
9320 RIZHETIL 13 7 4 10 7 12 15
9330 B[S ET/NE 10 8 7 4 12 8 6
9340 RISHETE 17 20 18 10 12 18 17
9999 R XE 50 42 39 32 38 46 44
9410 RETTE 10 9 16 15 16 8 19
9420 RETHHE 4 11 12 19 9 7 14
9430 RETEXR 3 7 8 6 3 5 10
9440 RETAEF 1 1 0 0 0 0 0
9450 SRETHER 2 0 0 2 3 0 2
9460 RETCHE 2 3 2 1 2 0 0

NOOITONON—-=DRARNAEA—=2 = NOO—-—NOOONJOIOIOJ

253

G WNOWNO - NI W WO OO —=00OU hwwo

NNPEAW—==DNWOONNN—OPRMP—-0O—-OINIJWOO©®©

212
12
10
31
14

11



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 60 61 62 63 64 65 66

9470 RETEXR 0 3 0 0 1 0 0
9480 SRETHER 0 2 2 3 1 3 3
9999 REEXE 22 36 40 46 35 23 48
99999 =11 1906 2009 1927 2090 2069 2169 2365 2421

67 68 69
1 0 0
4 7 2

55 46 34

2259 1886



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 70 71 72 13 714 75 76
10 H ET 2 0 0 3 3 3 1
20 [ st BT 4 5 3 5 4 6 0
30 & HT 4 7 5 5 8 7 7
40 LRHET 3 8 1 5 5 4 4
50 AET—TH 10 8 10 7 4 4 7
60 AETZTH 3 7 10 3 1 4 1
70 AET=TH 2 5 9 11 9 9 8
80 AT I T 3 1 0 2 0 0 4
90 PR T I AT 3 12 5 6 10 6 7
100 Jt o FLET 2 7 2 5 1 3 2
110 ¥ASTHT 23 10 21 20 19 16 23
120 AT AHT 4 2 4 2 10 1 5
130 TEFHT 5 20 12 6 14 7 10
140 £ [E] T 0 0 0 0 0 0 0
150 TE T 7 5 7 5 11 11 4
9999 KRB XE 75 97 89 8 99 81 83
510 AETMTH 7 11 8 17 15 8 16
520 heEE T 3 3 4 5 3 1 1
530 J\IEHT 4 6 6 4 6 5 2
540 18R HT 11 6 13 15 11 10 9
550 S BT 7 7 6 15 8 8 10
560 = ZEHT 0 3 5 1 6 3 3
570 EEET 1 1 3 1 2 0 0
580 FrEAET 8 5 3 0 4 3 3
590 FEET 0 3 2 3 1 1 0
600 RN 14 8 14 14 17 9 9
610 EHT 4 7 5 5 5 7 6
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 50 60 69 80 78 55 59
1010 B AHET 1 4 3 3 7 9 5
1020 L HHET 6 10 5 9 8 4 5
1030 mh A ET 4 5 8 6 8 14 5
1040 Fichag:ii 6 9 14 12 2 5 8
1050 K HAET 5 12 12 11 13 14 11
1060 F_EHT 9 6 15 13 11 3 16
1070 Fr IR ET 12 9 18 12 13 11 7
1080 E HH#T 7 9 7 7 4 13 6
1090 HEHRT 20 11 20 19 13 9 21
1100 L+ BEHRT 7 13 16 15 11 15 13
1110 1S IEET 6 6 6 7 4 3 5
1120 12 1E JTHT 3 2 4 0 3 3 1
1130 + 0T 1 1 4 1 1 0 1
1140 FRRET 0 1 2 0 0 0 0
1150 FERET—TH 5 3 4 11 7 6 2
1160 FEET-TH 2 4 2 13 8 5 9
1170 H7KET 4 7 6 6 6 5 8
1180 BEFLET 14 11 6 5 6 14 9
1190 FEFARHT 2 6 8 2 4 5 2
1200 RKFH—TH 1 4 2 2 7 4 5
1210 XKFHIZTH 0 4 5 2 4 3 4
1220 FHT 3 3 3 3 3 3 2
1230 iRET 5 3 6 4 4 3 0
1240 HEET 3 7 3 7 2 2 1
1250 1= ET 1 3 4 2 5 5 4
1260 yER=E 3T ] 2 2 3 0 2 3 0
1270 HEE 3 3 1 1 2 2 0
1280 FRAE T 2 3 5 2 7 5 7
1290 SR ET 3 6 5 3 5 7 4

—_—

—_—

—_ -
NO—-PADMDO === 01WONOORRITITOOOONUOITJOJOOJOWWOWNWOONOUIOOPRPOONOPRLANIEA—=-WOPRA—=ONWNNJ

~l

N
IO = NOOCITOGINJOTION N OO

o0 — —_
wop~OOO

— —
o o O

—_

(0]
N~NoOoNMNOOwWoONWS

— — — — — —
A WONWDWCAWRA-=-NIPPODAOITW—LOODPWOaNNIONO

~

— © w

—_—

—_—

()]
©COOO—- OO0 —=-DOOPL—-NOJOOCUIONOO—-WhAhOoO OO

O =N PO WONOOOHOOOWUOUIO = WhoOo



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 70 71 72 73 74 75 76

1300 A ZEMT 2 4 4 2 5 6 2
1310 KRIGHET 2 2 4 0 1 1 1
9999 A HEEXE 141 173 205 180 176 182 164
1510 HEHD L BT 11 18 23 23 28 20 15
1520 HE T ET 18 25 22 27 18 18 17
1530 HE#0 ST ET 7 10 14 8 10 14 9
1540 KigFHT 9 17 8 14 19 14 7
9999 FERNAR: X B 45 70 67 72 75 66 48
2010 = EHRHET 2 3 8 6 3 2 7
2020 %= EFhHET 4 4 5 7 3 8 3
2030 JENHT 0 0 0 2 0 1 0
2040 HET—TH 3 7 2 4 6 5 2
2050 WET—TH 6 6 8 7 5 4 3
2060 ¥o HE T 1 1 0 4 2 1 0
2070 FRET—TH 4 4 7 6 10 8 5
2080 FRETZ=TH 4 6 10 2 4 5 6
2090 =g 31 48 65 42 47 37 48
2100 ==bld:] 4 3 4 3 6 4 6
2110 FENNFTET—T B 5 5 4 9 5 8 11
2120 HEHIFTET —T B 2 7 9 5 11 4 2
9999 ZEREXE 66 94 122 97 102 87 93
2510 FA U BT 32 46 54 48 60 39 45
2520 K B2 ET 20 18 21 24 10 12 16
2530 =/NEET 6 5 4 5 7 9 9
2540 FHi5HT 6 18 11 17 21 19 13
2550 SRET 8 4 10 7 4 5 7
2560 = BT 23 18 27 19 33 28 23
2570 KEHRT 3 1 1 1 4 5 3
9999 WERXE 98 110 128 121 139 117 116
3010 RHTET 21 37 20 26 35 30 32
3020 T ET 13 17 18 12 23 13 18
3030 L+ EET 6 20 16 20 17 15 13
3040 =1z 0] 3 4 4 8 4 5 3
3050 o B BT 24 39 42 45 44 A1 42
3060 HETHET 9 17 24 20 18 19 20
3070 T BN RT 8 19 12 12 12 17 15
3080 H T 6 4 9 9 7 6 5
3090 H R R ET 6 8 10 12 7 8 5
3100 s2==lsic: ) 10 12 5 6 9 7 5
3110 zZl==pId:1) 7 14 13 15 1 14 7
9999 INTFEREXE 113 191 173 185 187 175 165
3510 SR 1 2 10 3 3 6 5
3520 E R hHET 12 8 13 8 14 7 6
3530 ERTHT 21 21 24 19 21 20 10
3540 Z R KHET 13 2 10 14 15 17 7
3550 AEFHT 16 12 21 22 14 23 13
3560 = FERHET 8 4 6 8 10 9 7
3570 = e 25 21 28 28 20 20 18
3580 3 L BT 10 16 12 13 16 12 16
3590 TEHT 0 0 0 0 0 1 0
9999 SHBEEXE 106 86 124 115 113 115 82
4010 )1 g ET 10 12 14 3 12 16 7
4020 fE&HT 3 0 5 4 5 6 2
4030 1SET 2 2 7 5 10 6 2
4040 = HE A ET 1 2 6 8 5 3 10
4050 7K E/T 4 7 13 8 11 10 9
4060 B2 4 AT 7 10 9 8 9 8 9
4070 At [ ET 2 4 4 2 3 3 4

717

151

o1 — —_ -
HOOIN OO0

NOOIToooo)—=JOoo

136

10
12
12
19

15

[o0]
0 O

NJOo0Oo b~

78

169
19

Ul — = -
© — O ©

S —_—
WhoONJO - JOIOWOS

99
29
24
13
17

94

120
12

—h
wWo O ool —

79

190

[3; —_ -
o WOWowWwo

(8]
NJOOOPPONDPAI—=—=O

=)
MU= ®

100

104

OO OCOLWO =N



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET(KF)3—F {TEHET (KF) £ 70 72 73 74 75 16 71 718 1719
4080 =T iHiRT 5 9 4 4 5 5 4 13 5 6
4090 R ET 9 6 6 11 13 3 6 5 13 9
4100 A EFNET 1 2 3 1 2 1 3 1 4 2
4110 Jt S FOET 2 1 3 1 1 0 2 1 1 1
9999 R XET 46 55 74 55 76 61 58 63 65 61
4510 ERE—ZHT 14 25 25 31 30 21 17 19 25 21
4520 B FKMET 2 6 3 5 6 4 2 2 4 3
4530 AREE=FHET 1 1 4 1 6 0 4 2 7 4
4540 EREE U EHT 1 2 4 4 6 5 1 3 4 5
4550 AR FHHET 2 4 1 2 1 4 1 1 5 1
4560 EREENTEET 1 0 3 2 2 0 0 1 2 1
4570 L FET 0 5 1 2 5 1 3 2 3 2
4580 AR )\ FEHT 4 0 0 0 1 1 1 3 0 3
4590 EREE N TEHT 2 1 4 0 3 3 4 1 1 0
4600 ERE+ZHT 0 2 3 1 3 1 3 2 2 2
4610 EREE+—FHET 5 0 2 3 5 2 6 4 4 4
4620 B+ — FKHET 3 5 4 5 4 7 2 1 4 5
9999 BERRET 35 51 54 56 72 49 44 41 61 51
5010 REF0 B /T 3 3 8 6 6 8 9 7 2 4
5020 AR FNBA 5T 4 3 1 6 4 4 4 4 5 4
5030 REFNE{— /T 4 1 4 5 5 1 9 6 11 8
9999 AR X &Y 11 7 13 17 15 13 22 17 18 16
5510 b R ET 7 5 6 5 11 9 10 5 5 10
5520 = Hh BT 11 15 21 18 19 12 16 10 11 11
5530 =T 3 16 15 11 11 13 14 13 16 14
5540 T 6 8 11 6 10 15 12 5 11 10
5550 BET 5 2 3 2 3 2 2 3 3 3
9999 =X E 32 46 56 42 54 51 54 36 46 48
6010 it BT /N BR 1 3 2 6 5 4 3 3 4 5
6020 fif] BT e 1 0 2 1 2 5 5 1 4 9
6030 fE BT 2 )1 0 1 3 3 1 4 4 8 0 4
6040 13 FFET 5 6 10 4 6 4 6 4 6 5
6050 JIIEHET R 2 2 5 11 2 6 5 2 6 5
6060 JIIEBETEE 3 3 2 3 6 2 6 3 3 0
9999 BEERRXET 12 15 24 28 22 25 29 21 23 28
6510 H&EA#EAHET 0 1 0 0 3 2 0 0 1 1
6520 H&E A KEHT 4 7 5 7 3 12 4 4 8 5
6530 B &R AFTHET 2 3 3 2 4 6 6 5 5 5
6540 HEAILUTH 11 5 10 13 9 5 7 3 9 6
6550 BEAM 2 NET 1 1 3 2 5 4 2 3 3 5
6560 HEAEILHT 2 6 5 7 8 7 7 7 3 5
6570 HEAGFHET 3 5 9 7 13 7 7 7 6 3
6580 HZEARHT 0 5 3 4 4 2 0 4 4 5
6590 HEARHE 2 3 4 3 2 1 4 0 5 1
6600 HZEAGHT 1 5 5 4 3 1 4 2 2 2
6610 HZEA LT 1 2 0 4 1 1 1 2 1 2
6620 HEAGFHT 1 2 3 3 0 4 0 0 2 3
6630 HEATHAET 3 7 4 5 4 6 5 3 8 1
6640 HEA EHBHT 3 2 1 2 1 0 1 0 2 3
6650 HZEASHE 0 0 0 0 1 0 0 0 0 0
6660 HEAFRHET 0 2 1 1 1 2 5 2 2 1
9999 HEARRKE 34 56 56 64 62 60 53 42 61 48
7010 ZRiMORT 6 10 8 4 11 4 6 2 10 5
7020 ZRKHT 2 6 12 6 4 5 5 10 13 6
7030 Z RIRHAET 1 4 3 1 1 6 4 5 4 5
7040 ZRTXKEHET 7 6 8 9 5 10 8 8 13 8
7050 Z RETHISHET 5 5 3 2 7 1 2 3 3 8
9999 ZRBREXE 21 31 34 22 28 26 25 28 43 32



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 70 71 72 13 714 75 76
8011 IRAETFEERLY 0 2 3 3 3 1 0
8012 IRABTERERA 3 5 7 3 5 6 5
8013 IRABTEER (& 3 4 2 1 2 2 2
8021 IR AHETIZRKLY 1 4 5 3 4 4 3
8022 IRAHETRKA 0 0 1 0 0 0 0
8023 R AETFRK & 0 2 0 1 0 0 1
8031 IRAHETR ALY 2 9 3 6 9 6 13
8032 IRAET R A A 0 0 0 1 0 0 0
8033 IRAET R A 0 1 0 0 1 0 1
8041 IR AETEEIFLY 1 4 1 3 2 2 4
8042 IRAET LR A 0 2 1 0 5 1 3
8043 IR A HT B605% (X 1 0 0 3 0 1 0
8044 IR AET AR 0 2 1 0 2 2 0
8045 IR A HT 860% (F 1 1 1 1 3 2 3
8050 IR AHET IR A 5 4 6 2 5 2 5
8060 F N b ] 0 2 3 5 6 7 3
8070 IRAETER 4 1 5 2 9 4 4
8080 IR A BT S %A 1 0 1 2 0 1 1
8090 IRAETEE 1 0 2 4 1 0 2
8100 IRAETH /R 0 0 1 2 2 1 1
8110 P A< BT 11553 0 1 2 3 1 3 1
8120 IR AETEEME 3 8 4 2 3 2 5
8130 IRAETA E 0 4 1 4 2 3 6
8140 IRAETEEERT 2 7 6 7 5 2 5
8150 IRAETEEERL 0 1 1 9 1 2 5
9999 IRARR X ET 28 64 57 67 71 54 73
9010 FTHEHAREH 8 25 22 17 20 9 20
9020 FTHEHIEER 8 13 8 10 8 15 10
9030 FTHEI#%#H 9 27 27 22 22 21 20
9040 FTHEHRH 19 43 36 38 34 35 28
9999 FTHREXE 44 108 93 87 84 80 78
9110 FEETTHEIE 16 19 21 17 1 10 18
9120 =BT A& 6 8 8 5 5 8 6
9130 FEETRE 2 4 11 5 5 4 0
9140 SERT T A 3 18 11 8 5 7 5
9150 SERT L 45 13 12 19 11 15 17 10
9160 SEATEE AT 14 28 19 22 25 12 21
9170 =ETNE 14 29 28 27 23 26 19
9180 SEETER 17 16 21 17 20 24 19
9190 f=ETZ A 3 5 4 8 11 4 7
9200 SEETET IS 7 6 3 8 8 7 3
9210 RETE 4 10 13 8 14 12 14
9220 SR ET R 10 11 13 23 21 12 18
9230 SEET B M 10 18 15 19 18 12 12
9240 SRETIE R 6 9 7 6 13 8 8
9250 $ERTIL Frth 5 7 9 11 11 16 11
9999 FERXET 130 200 202 195 205 179 171
9310 B SHET AR 5 7 6 9 7 10 12
9320 RIZHETIL 5 8 9 2 10 10 10
9330 B[S ET/NE 7 7 4 6 8 6 6
9340 RISHETE 11 11 6 12 17 21 21
9999 R XE 28 33 25 29 42 47 49
9410 RETTE 5 9 16 8 11 22 13
9420 RETHHE 7 12 18 8 8 17 14
9430 RETEXR 3 9 7 8 14 10 6
9440 RETAEF 1 0 1 1 0 1 2
9450 SRETHER 0 1 0 0 1 1 0
9460 RETCHE 2 1 0 1 2 1 2

— 0P W—-OIN—=—=O0O0—-=NONUUITOOOO—O0ONOCINJ

—
DN b

N _ - - —_ OO N =
- RO PDOOINWDWWOOOPMAWO OW

18
10
15
167

13
32
15
14
12
2
0
1

WNOTOT WU O WWNNPhWOWNOO RO =M DbMoNO

- d
O© WN

—_ —_ = N =N = N~ W —
ONJNOoOoOoOoOophh—-—OWNODRMOI—=ONY

197
12

17
44
16
14
13
1
1
3

~
N O©COONNNIIITODO—-—ONWAMAOOPRA—-0OW—-=ANO®

—_—

—_— - N = —_ ) = — —_ d W = = - ©
== DNONJOoOWowNONOOINOOONO

190



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 70 71 72 73 74 75 76

717 78 79
0 0 0
4 2 3

48 50 48

9470 RETEXR 1 0 0 0 0 1 0
9480 SRETHER 3 0 1 1 1 3 1
9999 REEXE 22 32 43 27 37 56 38
99999 =11 1146 1579 1708 1624 1737 1579 1504 1382 1612 1599



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 80 81 82 83 84 8 86
10 H ET 5 3 6 5 4 5 3
20 [ st BT 6 3 6 1 4 7 5
30 & HT 2 3 4 4 5 10 6
40 LRHET 0 5 0 3 4 2 2
50 AET—TH 7 6 8 8 3 2 5
60 AETZTH 6 1 1 3 1 2 1
70 AET=TH 7 7 5 3 2 6 4
80 AT I T 1 1 0 3 1 1 0
90 PR T I AT 6 2 2 1 2 2 6
100 Jt o FLET 1 2 4 1 3 1 2
110 ¥ASTHT 26 31 18 25 16 18 8
120 AT AHT 1 5 5 9 0 4 4
130 TEFHT 5 10 8 9 12 7 9
140 £ [E] T 0 0 0 0 0 0 0
150 FEFHET 6 5 0 4 1 3 2
9999 KRB XE 79 84 67 79 58 70 57
510 AETMTH 10 8 10 11 14 6 10
520 heEE T 2 5 0 3 1 2 5
530 J\IEHT 8 6 5 9 8 4 8
540 15 EET 14 6 4 4 6 5 3
550 S BT 0 5 7 3 2 4 1
560 = ZEHT 4 4 2 2 1 3 1
570 EEET 1 0 2 1 2 2 4
580 FrEAET 4 1 1 5 4 3 2
590 FEET 1 1 1 5 0 4 1
600 RN 10 15 8 6 5 4 5
610 EHT 4 4 5 4 9 2 4
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 58 55 45 53 52 39 44
1010 B AHET 3 4 4 4 1 3 9
1020 L HHET 12 6 4 7 1 2 4
1030 mh A ET 8 6 5 8 4 4 2
1040 Fichag:ii 12 10 10 17 9 5 9
1050 K HAT 19 15 9 12 7 10 6
1060 F_EHT 12 4 5 7 11 7 4
1070 Fr IR ET 10 10 8 13 13 8 7
1080 E M HET 9 2 2 9 7 3 5
1090 HEHRT 13 22 11 9 17 18 16
1100 L+ BEHRT 13 18 12 18 7 9 10
1110 1S IEET 4 6 4 5 2 0 3
1120 12 1E JTHT 7 2 4 2 2 1 4
1130 + 0T 2 0 1 0 2 0 1
1140 FRRET 0 0 2 1 1 0 0
1150 FERET—TH 5 6 3 3 3 4 2
1160 FEET-TH 10 11 9 4 4 8 7
1170 H7KET 3 5 9 2 2 1 4
1180 BEFLET 7 4 5 9 5 4 3
1190 FEFARHT 5 2 4 5 0 2 0
1200 RKFH—TH 8 5 2 1 5 2 5
1210 XKFHIZTH 3 0 5 4 3 2 2
1220 FHT 3 6 5 4 5 2 5
1230 iGET 3 6 4 4 9 1 4
1240 HEET 3 3 1 0 6 2 2
1250 1= ET 3 3 5 4 3 2 1
1260 yER=E 3T ] 4 2 3 0 0 0 0
1270 HEE 0 2 3 4 5 3 0
1280 FRAE T 5 5 7 5 2 2 1
1290 SR ET 2 6 1 7 4 4 2

COIN = = = = WWW—=NWNNWOONWOODODONOCGIGOWNOOWONN—-=WNOUUIOPRRO—-—0O0ONONN—-O000OCWNONJ

— WWLWN—=" == DNOLOPPOTWWLWOO—-W——NOUINLCOUDPOI—DDOOOOPL, - == IR —-0C00WOW—-O0O0ON—=-N—=DBDNNIADNO

WOO—-O0OO =N —=2—=O0ON—-O0OONWNWONWWHNOW—-=—=0ICOINONOOOOO L —-—=-DOWOPRLADPDOWWNNNOO—=INIMO©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

FEET (KF)a—K {TIHET (KF) 4

1300
1310
9999
1510
1520
1530
1540
9999
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
9999
2510
2520
2530
2540
2550
2560
2570
9999
3010
3020
3030
3040
3050
3060
3070
3080
3090
3100
3110
9999
3510
3520
3530
3540
3550
3560
3570
3580
3590
9999
4010
4020
4030
4040
4050
4060
4070

4 ZEHT
RILHT
ABEREXET
HEHD LT
HEH T ET
HEHSTHET
RKIEFHE
B X E
= ERAT

= EFEAET
HOET
HET—TH
HWET=TH
g L ET
FRET—TH
FRETZTH
g
==P[q:i1)
HEAEET—T B
HEAEHET =T B
= ERRXET
FAUS T

JK B HT

= /NERET
FHi5HET

SRET

= SHT

X EHT
N m
A ATHT
MBTHT

L EFHT
B L BT

T B BT
B THET

T BREET

HH BT

H s AT
ZZ==Tic]:0
s2h==Bld:
INTFERXET
SR

& R chHlT
EETH
=P N

A EFHT

= FEHET

= e

3 LT ET
JERT

= EERE
)11 N ET
fESHT

15HET

= HEAET

7K BHET
L)

L IR HET

80
5

3
196
19
13

w L
WNONJOOOOOWOOO O

N - — 5~ o
S hOWAOI—= Db

112

86
11

10
10
13

81
7

2
180
15
16
11
11

($)]
w

I
WPAhONPDPOOITOOOOKLOWO MW

N W - NN © - —_ — W ©
NORA=Dd—-—0OINOODO D~ —

16

15

105

14

10

15

82
5
0

152

11
9
9

15

N
N

WLWWLWwOahA OO JOOOW

101

10

13
11

83
7

0
175
18
8
12

I
w o

—_—

I
NOO—= PO —=01I0CWN

134

14
17

18
11
18
12

105

—_
ST WN O

84
1

3
144
12
12
11
6
41

~ L
~N~N NN, BRI OO DS

- N
N oo Clw—

—_ N O —_
NJOIJOoobhwWwow-=—=

—_
o

—_
N = hOOPL~OONIAANTTWLWOOOOO—_ONDDIAY

—_

—_

- ~d

—_

85
4
1

114

12

w

AL NPOI—=" = WO == —=0 IO

NOWOITONON

86

123

—_
~

N

—
- RO - O PO WLO0OIONOUIOOOWON—-=WUANOSO L OCQOOOORL,—=WPAPAOWOUIOCUTW == W WOOUNOWOWOWOS

—_

—_

—_

o

—_
o

—_
NOTOWWRA—=-WAINJOOPRA—-O0OJWNOWRAR—-AN—-O00OCUIONJOW

N

N

—

—_—

— O

N
—_

—_ -
o= —=NO

~

ANPPOOADPDDDOOOCOOOTOINJOJWOI =

88

108

—_
o

- W
NGO = WOOW—-WWw—-hhOouMNMONMOUTIO Y

~

- W
WOowNJI——OvNOh~dbhoONMNIYIOOBRRN—OOPM~DWOG

—_

(o]

~l

N

—_—

—_ —_ N

—_—

(S

w »
NWWOMNNONODONOOCIWOONON—-OI—LON—-0WOOOWONd—==NDIAAPOONPONDIDPONONWOOOONWNOOO —©©

—_—



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 80 81 82 83 84 8 86
4080 =T iHiRT 5 8 6 3 2 3 4
4090 R ET 17 6 11 6 8 13 2
4100 A EFNET 4 5 6 10 5 4 5
4110 Jt S FOET 3 3 9 7 2 8 7
9999 R XET 86 82 87 63 60 56 52
4510 ERE—ZHT 21 20 11 10 16 10 11
4520 B FKMET 3 2 6 2 7 2 6
4530 AREE=FHET 7 2 6 6 4 2 3
4540 ERZE FHT 4 0 0 3 4 2 1
4550 AR FHHET 1 2 3 4 3 2 2
4560 EREENTEET 3 2 4 3 4 4 2
4570 ARECHET 3 2 1 4 3 2 3
4580 AR )\ FEHT 1 0 1 0 0 2 1
4590 AR N FHET 3 0 1 0 2 2 2
4600 ERE+ZHT 2 4 1 1 1 2 2
4610 EREE+—FHET 4 4 2 3 4 1 2
4620 B+ — FKHET 5 5 9 2 2 3 8
9999 BERRET 57 43 45 38 50 34 43
5010 REF0 B /T 8 7 3 6 2 3 4
5020 RE FOBA 4 ET 10 6 4 2 2 1 1
5030 REF0E{_HT 4 6 0 5 1 3 3
9999 AR X &Y 22 19 7 13 5 7 8
5510 b R ET 7 9 5 8 3 4 4
5520 = Hh BT 13 13 15 19 10 10 13
5530 =T 17 8 13 15 7 11 10
5540 T 4 8 3 8 13 6 10
5550 BET 2 6 2 1 3 3 0
9999 =X E 43 44 38 51 36 34 37
6010 [iE] BT /)N B 4 5 2 4 4 2 1
6020 fif] BT e 2 5 3 8 1 4 5
6030 [ BT &)1 1 7 0 6 4 1 1
6040 13 FFET 7 1 4 7 9 9 4
6050 JIIEHET R 2 6 5 3 3 13 4
6060 JIIEBETEE 1 4 1 4 3 5 3
9999 BEERRXET 17 28 15 32 24 34 18
6510 H&EA#EAHET 1 1 0 1 1 0 0
6520 H&E A KEHT 4 5 3 5 7 6 2
6530 B &R AFTHET 5 4 1 3 3 2 3
6540 HEAILUTH 7 8 5 6 5 2 6
6550 BEAM 2 NET 2 2 5 2 1 0 2
6560 HEAEILHT 5 4 7 3 1 4 4
6570 HEAGFHET 3 3 6 8 6 2 1
6580 HZEARHT 6 3 5 3 2 6 4
6590 HEARHE 2 4 0 4 3 2 2
6600 HZEAGHT 3 4 6 2 2 3 0
6610 HZEA LT 2 1 1 1 2 0 0
6620 HEAGFHT 1 0 1 1 2 1 3
6630 HEATHAET 5 6 4 4 5 3 8
6640 HEA EHBHT 0 4 1 0 3 1 1
6650 HZEASHE 0 0 1 0 0 0 0
6660 HEAFRHET 4 1 0 3 2 1 7
9999 HEARRKE 50 50 46 46 45 33 43
7010 ZRNOmE 10 6 2 5 5 5 5
7020 ZRKHT 9 7 4 4 9 6 5
7030 Z RIRHAET 5 10 2 1 9 3 5
7040 ZRTXKEHET 8 6 11 6 15 9 13
7050 Z RETHISHET 6 4 6 3 1 6 2
9999 ZRBREXE 38 33 25 19 39 29 30

o

w

w

—_—

N

—_—

w
ANIWOPDLOCOO =D == DNNDPDON—-=WDADROGTONNNWNN—-=ONNNNOOOO—-=WNDIPRAOAOW-=NWN-NNPPLWOOORORA—=-J

N

(o]
(o]

- o>
I

w
N

N
w —_ —

—_
—_—

w
N WW =0 O0TWNO—-PA —=-0WNOWNODAMARUUIOOOUITTTWWOMNDMNOWANINYNTOODRL, == WN—-0O0—-=-NAA=2=0W0CWLWUNWNO OGIO h~ O

N
— OO0 = WWMNWOWMNOO-=DNNIMONO PR = O0TWWPAPWNOOMNDMNMNMNMNWLWLONPLP—-DNO—OO—=—-ON—-O—= =00 —-WwWWwWw,Io

—_
N



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 80 81 82 83 84 8 86
8011 IRAETFEERLY 6 3 3 7 4 1 2
8012 IRABTERERA 5 4 6 4 3 5 1
8013 IRABTEER (& 6 3 8 2 5 2 3
8021 IR AHETIZRKLY 6 2 5 2 4 4 2
8022 IRAHETRKA 1 0 0 1 0 1 1
8023 R AETFRK & 0 1 2 1 0 0 1
8031 IRAHETR ALY 7 8 11 9 10 6 6
8032 IRAET R A A 0 2 1 0 1 0 0
8033 IRAET R A 1 1 1 1 1 2 0
8041 IR AETEEIFLY 5 3 3 4 6 4 2
8042 IRAET LR A 0 0 2 0 2 1 0
8043 IR A HT B605% (X 0 2 1 1 1 1 0
8044 IR AET AR 1 1 0 2 2 1 2
8045 IR A HT 860% (F 4 2 4 2 0 3 3
8050 IR AHET IR A 11 11 9 13 7 11 5
8060 F N b ] 3 7 6 9 6 7 5
8070 IRAETER 5 7 3 4 12 9 8
8080 IR A BT S %A 2 5 3 2 4 2 4
8090 IRAETEE 5 3 2 3 3 3 2
8100 IRAETH /R 1 0 3 3 1 2 1
8110 P A< BT 11553 2 5 1 3 2 6 2
8120 IR AETEEME 4 2 5 3 3 3 4
8130 IRAETA E 5 2 4 4 2 5 1
8140 IRAETEEERT 8 4 7 1 5 6 1
8150 IRAETEEERL 2 5 5 2 3 2 6
9999 IRARR X ET 90 83 95 83 87 87 62
9010 FTHEHAREH 12 14 15 12 18 17 12
9020 FTHEHIEER 11 8 7 10 10 14 9
9030 FTHEI#%#H 23 23 13 20 19 12 13
9040 FTHEHRH 35 21 32 27 17 28 13
9999 FTHREXE 81 66 67 69 64 71 47
9110 Fi =R 12 16 9 8 9 7 7
9120 =BT A& 4 7 4 3 8 7 4
9130 FEETRE 6 3 5 4 6 1 6
9140 SERT T A 12 6 7 3 3 12 4
9150 SERT L 45 9 13 14 8 9 7 9
9160 SEETER AT 16 21 19 21 11 21 7
9170 =ETNE 19 22 22 25 24 24 14
9180 SEETER 21 20 19 14 23 11 19
9190 f=ETZ A 6 6 6 7 0 2 4
9200 SEETET IS 9 9 5 7 7 4 5
9210 SEETEH 12 6 9 11 13 5 7
9220 SR ET R 24 18 17 23 5 16 14
9230 SEET B M 24 19 8 19 16 13 9
9240 SRETIE R 14 7 12 7 10 3 3
9250 $ERTIL Frth 17 20 8 14 14 13 10
9999 FERXET 205 193 164 174 158 146 122
9310 B SHETA{R 10 12 5 6 15 7 10
9320 RSETIE 13 9 14 5 6 4 6
9330 B[S ET/NE 6 6 8 7 3 8 5
9340 RISHETE 8 13 8 10 7 11 9
9999 R XE 37 40 35 28 31 30 30
9410 RETTE 12 13 8 3 8 11 11
9420 RETHHE 8 14 7 5 10 12 7
9430 RETEXR 9 6 7 9 7 4 3
9440 RETAEF 1 3 0 3 3 0 0
9450 SRETHER 2 0 1 4 0 5 0
9460 RETCHE 1 2 1 1 0 4 0

WOTW—- W= = WOUITOO - 0O —-WONWO—-O0—-=NNJ

N — —
NO NN D

($)]
~

—_
OO OO OUIUIOONJOIOUIO O W

- O (o]
ONNWOO—=-NW—LOWOOPAP,ON—-—O0O0ON—-O0DOCONI~W—O

Ol = =
N © O

14

107

O OOUCIOCICIOIN O

(o]

—_
($)]
CTWJOOODOCITONDD—-N—-DPDWJOOOO 0O P~MODONOWMO©

BN
o1 O

11

WO PDOOINTOTONNOOIOOIOOCOO W



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 80 81 82 83 84 85 86

9470 RETEXR 0 0 0 0 1 0 0
9480 SRETHER 0 0 1 0 1 2 0
9999 REEXE 33 3 25 25 30 38 21
99999 =11 1545 1542 1343 1407 1240 1170 1044

87

19
932

88

22
856

89

17
757



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
10 H ET 2 0 0 0 0 1 0
20 [ st BT 3 1 0 0 1 0 1
30 & HT 4 5 2 3 4 2 3
40 LRHET 4 2 0 0 0 0 0
50 AET—TH 3 1 3 0 1 0 2
60 AETZTH 2 5 1 2 0 1 2
70 AET=TH 3 3 1 3 2 0 5
80 AT I T 0 0 0 0 0 1 0
90 PR T I AT 3 1 0 1 1 1 1
100 Jt o FLET 0 0 1 0 0 0 0
110 ¥ASTHT 10 13 3 2 4 2 2
120 /NAW. N 1 0 2 0 0 0 0
130 TEFHT 2 7 3 0 2 1 0
140 £ [E] T 0 0 0 0 0 0 0
150 FEFHET 2 2 0 0 0 0 0
9999 KRB XE 39 40 16 11 15 9 16
510 AETMTH 4 2 4 2 2 1 0
520 heEE T 0 0 0 0 1 0 0
530 J\IEHT 5 2 2 0 2 2 1
540 15 EET 1 1 2 0 2 1 1
550 S BT 0 1 0 0 0 2 1
560 = ZEHT 2 2 0 0 0 1 0
570 EEET 1 1 0 0 0 0 0
580 $BHET 1 1 1 1 1 0 1
590 FEET 1 1 0 1 0 0 0
600 RN 5 2 0 1 1 1 0
610 EHT 1 0 0 1 0 2 0
620 HAE—TH 0 0 0 0 0 0 0
9999 J\ KB XE 21 13 9 6 9 10 4
1010 B AHET 2 0 4 1 0 0 0
1020 L HHET 2 3 3 3 1 0 0
1030 mh A ET 4 2 1 0 0 1 1
1040 Fichag:ii 3 5 2 1 3 1 1
1050 K HAT 2 2 4 2 0 2 1
1060 F_EHT 3 4 4 2 1 1 2
1070 Fr IR ET 4 6 4 1 0 2 0
1080 E M HET 2 3 0 2 1 0 0
1090 HEHRT 3 6 5 2 1 1 1
1100 L+ BEHRT 4 3 5 3 2 2 1
1110 1S IEET 0 1 0 1 1 0 1
1120 12 1E JTHT 8 1 2 1 0 0 0
1130 + 0T 0 2 0 1 0 0 0
1140 FRRET 0 0 0 0 0 0 0
1150 FERET—TH 2 2 2 1 2 0 0
1160 FEET-TH 1 3 1 3 1 0 1
1170 H7KET 0 2 1 0 1 1 1
1180 BEFLET 4 3 1 1 0 1 1
1190 FEFARHT 4 7 1 3 1 1 0
1200 RKFH—TH 1 1 2 2 2 1 1
1210 XKFHIZTH 2 3 1 0 0 1 0
1220 FHT 0 0 2 0 1 0 0
1230 iGET 4 1 0 2 0 0 0
1240 HEET 0 0 1 0 1 0 0
1250 1= ET 0 0 0 0 0 0 0
1260 yER=E 3T ] 1 0 0 0 0 1 0
1270 HEHET 0 3 2 1 0 0 0
1280 FRAE T 2 1 0 2 1 0 0
1290 SR ET 4 3 1 0 0 0 0

OO —-—- 000000~ 00 000 0O~ 00O WOOOOPMODOODODOOONOOONOO—-~OOOOONOODOOO—-0ONJ

OCO0OO0OO0OO0ODO0OO0OO0OO0OONOO 000 O0ON—-TO—O0O - 000~ 00000C0O0O0CC0O0O0O0—T0000D0O0O0O0O—~~0—~0—~0—~-00—=-0—=0

— 00000000~ 0000O 00—~ 0~ 00000~ 0000000000000 O0OWOO0OLOOO0OO 00—~ 00000 C©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
1300 A ZEMT 0 1 3 0 1 0 0
1310 KRIGHET 0 0 0 0 0 0 0
9999 A HEEXE 62 68 52 35 21 16 12
1510 HEHD L BT 11 7 2 3 1 2 0
1520 HE T ET 6 6 2 3 3 3 3
1530 HE#0 ST ET 3 1 3 6 1 2 1
1540 KigFHT 7 7 0 4 5 0 3
9999 FERNAR: X B 27 21 7 16 10 7 7
2010 = EHRHET 1 0 1 1 0 0 0
2020 %= EFhHET 1 1 3 0 0 2 1
2030 J0ET 0 0 0 0 0 1 0
2040 HET—TH 5 2 0 2 2 1 0
2050 WET—TH 2 0 0 3 2 0 0
2060 g FE BT 0 0 1 1 0 0 0
2070 FRET—TH 3 2 4 1 0 3 0
2080 FRETZ=TH 2 2 3 1 2 1 1
2090 =g 13 8 18 5 4 5 2
2100 ==bld:] 3 2 1 1 0 1 0
2110 FENNFTET—T B 0 0 4 0 0 1 0
2120 HEHIFTET —T B 1 1 1 2 1 1 0
9999 ZEREXE 31 18 36 17 11 16 4
2510 FA U BT 8 8 6 9 6 6 5
2520 K B2 ET 3 6 2 5 2 2 1
2530 =/NEET 2 2 2 1 2 2 0
2540 FHiGHT 4 0 4 1 1 1 0
2550 SRET 2 5 1 1 1 0 1
2560 = BT 6 8 3 5 4 0 2
2570 KEHRT 0 1 1 0 0 0 0
9999 WERXE 25 30 19 22 16 11 9
3010 RHTET 2 2 6 5 6 0 3
3020 MELTHET 11 7 8 5 4 1 0
3030 L+ EET 1 6 3 6 4 2 2
3040 =1z 0] 3 1 0 1 0 0 0
3050 T R ET 8 9 14 6 10 5 4
3060 H R THT 5 5 5 2 8 0 1
3070 T BREET 4 5 2 3 1 4 1
3080 H T 0 3 1 2 2 0 2
3090 H R R ET 1 3 1 2 0 0 0
3100 ZZ==Tic]:0 1 2 1 1 3 0 2
3110 zZl==pId:1) 1 2 4 2 0 0 0
9999 INTFEREXE 37 45 45 35 38 12 15
3510 SR 4 3 0 2 0 0 1
3520 E R hHET 2 2 2 2 1 3 1
3530 EETH 4 3 7 3 0 1 4
3540 Z R KHET 3 4 2 4 4 1 0
3550 AEFHT 7 4 4 5 3 2 0
3560 = FERHET 2 0 4 1 0 2 0
3570 = e 6 2 3 2 1 3 1
3580 3 L BT 5 5 0 0 1 0 1
3590 TEHT 0 0 0 0 0 0 0
9999 SHBEEXE 33 23 22 19 10 12 8
4010 )1 g ET 7 7 2 5 1 1 0
4020 fE&HT 3 2 0 1 0 0 1
4030 1SET 2 1 3 2 0 1 0
4040 = HE A ET 2 2 3 1 2 0 0
4050 K E/T 8 3 3 1 2 3 1
4060 B2 4 AT 7 6 4 3 2 1 0
4070 At [ ET 2 0 2 0 0 0 1

— 01l = = = = NPOOOCOCO—-—=-NOOWCOOODOO—-WO—-NNNOO—-~0O0O0OO PO OODWOOOOOO—~~ONOO—~~—- 00—~

—_

OO —-00O0ONUIO—~00O 0O == =-WO0OO0OO0ODO0OODO—-0O0O - - 00 PPONODO 0O —-DhOOONODODOONOODODODODODOOOOOO©®

O 0000 O0OWOO 0O~ —-000O0ON—- 00—~ 000000 OPMMODO 0O WOWOOONO—~OOOODOOUI—=—==NO00WO —-©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
4080 =T iHiRT 3 0 1 0 0 1 0
4090 R ET 5 1 2 1 0 0 0
4100 Rl 1 1 0 1 1 0 0
4110 Jt S FOET 2 2 3 0 0 0 1
9999 R XET 42 25 23 15 8 7 4
4510 ERE—ZHT 10 7 7 3 2 3 2
4520 B FKMET 5 0 1 2 1 0 0
4530 AREE=FHET 3 0 0 0 1 0 0
4540 AR FHT 3 1 1 1 0 1 1
4550 AR FHHET 0 0 0 1 1 0 0
4560 EREENTEET 1 0 1 0 1 0 0
4570 ARECHET 1 0 2 1 1 0 0
4580 AR )\ FEHT 2 1 1 2 0 0 0
4590 AR N FHET 1 0 0 1 0 0 0
4600 ERE+ZHT 0 0 1 0 0 0 0
4610 EREE+—FHET 2 0 1 1 2 1 0
4620 B+ — FKHET 2 2 0 3 0 1 0
9999 BERRET 30 11 15 15 9 6 3
5010 REF0 B /T 1 1 1 2 0 1 0
5020 AR FNBA 5T 0 4 1 2 1 2 0
5030 REF0E{_HT 5 1 0 0 0 4 0
9999 AR X &Y 6 6 2 4 1 7 0
5510 b R ET 7 0 1 1 0 1 1
5520 = Hh BT 4 7 4 3 2 3 2
5530 =T 6 2 2 2 2 4 2
5540 T EEET 2 4 1 2 1 1 2
5550 BET 2 0 2 1 2 0 1
9999 =X E 21 13 10 9 7 9 8
6010 [iE] BT /)N B 1 2 0 1 0 0 0
6020 fif] BT e 3 1 1 2 1 0 1
6030 [ BT &)1 1 1 2 0 1 0 0
6040 13 FFET 4 1 2 1 2 3 1
6050 JIIEHET R 2 2 0 1 2 0 0
6060 JIIEBETEE 1 1 2 0 0 0 2
9999 BEERRXET 12 8 7 5 6 3 4
6510 H&EA#EAHET 0 0 0 0 0 0 0
6520 H&E A KEHT 4 2 0 1 2 0 4
6530 B &R AFTHET 0 2 2 0 1 0 0
6540 HEAILUTH 3 2 0 4 0 0 1
6550 BEAM 2 NET 1 2 1 0 0 0 1
6560 HEAEILHT 3 2 3 0 0 2 0
6570 HEAGFHET 7 3 5 1 0 2 0
6580 HZEARHT 3 1 0 4 1 1 1
6590 HEARHE 3 1 0 1 0 1 0
6600 HZEAGHT 2 1 0 0 0 1 0
6610 HZEA LT 2 1 0 1 0 0 1
6620 HEAGFHT 1 1 2 0 0 0 0
6630 HEATHAET 3 2 2 1 2 0 0
6640 HEA EHBHT 2 1 1 1 0 1 0
6650 HZEASHE 0 0 0 0 0 0 0
6660 HEAFRHET 3 3 0 2 1 0 0
9999 BEARRE 37 24 16 16 7 8 8
7010 ZRNOmE 4 2 1 1 2 2 1
7020 ZRKHT 2 5 1 4 4 1 0
7030 Z RIRHAET 2 1 0 0 2 0 0
7040 ZRTXKEHET 3 4 0 2 4 0 0
7050 Z RETHISHET 4 0 3 2 3 0 0
9999 ZR&EXE 15 12 5 9 15 3 1

— 0O 00O -~ PhhOOOODODOOOONOOO O~ = - 00000~ 0000~ 0000 WOO0OO0OO0OO—~00O0OO—~—==NOOOOJ

NO—-—- 00,00~ 0000000000~ - 00000 —~00O0O -0 —~00—~-~NOOOOOO—0000O 00O P,~PODO—~0O0

OO OO OO PMODO—-~0O0OOOONOO 00000 O0ODO0OODOOOONOOO 000 O0ONOOODO0OO 00000 O—~NOO—~0OC©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TRET (KF)a—K {TEHT (KF) £ 90 91 92 93 94 95 96
8011 IRAETFEERLY 1 1 2 0 1 1 0
8012 IRABTERERA 5 0 1 1 0 1 0
8013 IRABTEER (& 0 1 2 1 0 1 0
8021 IR AHETIZRKLY 3 0 0 1 1 0 0
8022 IRAHETRKA 0 0 1 0 0 0 0
8023 R AETFRK & 0 1 0 0 0 0 0
8031 IRAHETR ALY 5 3 3 0 0 2 1
8032 IRAET R A A 1 0 0 0 0 0 0
8033 IRAET R A 1 0 0 0 1 0 1
8041 IR AETEEIFLY 2 0 2 2 1 1 1
8042 IRAET LR A 1 1 0 0 0 0 0
8043 IR A HT B605% (X 1 0 1 2 0 0 0
8044 IR AET AR 1 0 1 1 0 0 0
8045 IR A HT 860% (F 1 0 0 2 1 0 0
8050 IR AHET IR A 5 8 6 3 3 6 1
8060 F N b ] 2 6 3 1 1 0 2
8070 IRAETER 3 4 4 3 0 0 0
8080 IR A BT S %A 2 0 2 0 0 0 0
8090 IRAETEE 1 0 2 2 0 1 0
8100 IRAETH /R 0 1 2 0 0 0 0
8110 IR ASHET )1 53 0 2 0 1 0 0 0
8120 IR AETEEME 2 1 4 3 2 1 0
8130 IRAETA E 2 0 0 0 0 0 2
8140 IRAETEEERT 1 5 1 4 1 1 0
8150 IRAETEEERL 0 3 2 2 0 1 0
9999 IRARR X ET 40 37 39 29 12 16 8
9010 FTHEHAREH 13 8 4 2 9 4 2
9020 FTHEHIEER 8 3 1 2 5 6 1
9030 FTHEI#%#H 9 13 3 6 5 2 0
9040 FTHEHRH 10 15 3 9 8 5 8
9999 FTHREXE 40 39 11 19 27 17 11
9110 Fi =R 7 3 4 2 5 4 2
9120 =BT A& 9 0 2 1 0 1 1
9130 FEETRE 5 2 0 0 1 0 1
9140 SERT T A 5 2 3 2 3 2 0
9150 SERT L 45 4 3 4 4 1 1 0
9160 SEATEE AT 5 2 5 5 3 4 2
9170 =ETNE 9 4 5 4 7 1 3
9180 SR ET 85 7 10 4 5 3 0 0
9190 f=ETZ A 2 1 2 2 1 1 1
9200 SEETET IS 0 4 0 1 1 0 0
9210 RETE 1 6 1 2 1 0 2
9220 SR ET R 15 7 10 2 5 4 5
9230 SEET B M 10 8 7 2 4 1 3
9240 SRETIE R 2 3 2 1 2 0 0
9250 $ERTIL Frth 6 4 1 0 1 0 2
9999 FERXET 87 59 50 33 38 19 22
9310 B SHET AR 7 6 3 1 2 1 0
9320 RSETIE 3 4 1 2 3 2 2
9330 B[S ET/NE 2 3 1 1 0 0 0
9340 HZET 5 5 8 3 3 2 1
9999 R XE 17 18 13 7 8 5 3
9410 RETTE 1 6 2 0 4 1 0
9420 RETHHE 4 3 5 1 1 2 1
9430 RETEXR 4 4 1 0 2 4 0
9440 RETAEF 0 0 1 1 0 0 0
9450 SRETHER 2 1 1 0 0 0 0
9460 RETCHE 2 1 1 0 1 0 0

OCOO0OO0CCO0OO0O -0~ 0 0WVWO—~-—=-—- 00—~ —-0ON—- 000N —-"=-NOO—-~0000CO0CDO0O0O—-WOOOODOOLOLOLOLOOO—~0J

OO0 === DPRWL000WOOOO—-=-NO—=-—=-0ON—- 000000 W—-NUIODODOODOODODOO—-0O0O—-000O0O 00000 OOONOO©®

OCOO0CO0O—-~Oh~h—=-—-0O0NOCOOCOPMPNODOO - = -0~ 00O PO —-—-NOOOO - 0000 —-~NOOOODOO0OOOOOOOOO —~©



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TEET (XF)a—F {TIRHET (K=F) & 90 91 92 93 94 95

9470 RETEXR 0 0 0 0 0 0
9480 SRETHER 2 1 3 0 0 0
9999 REEXE 15 16 14 2 8 7
99999 &5t 637 526 411 324 276 200

96
0

0

1
148



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

10 H ET 0 307
20 [ 1L BT 2 293
30 & HT 2 440
40 LRHET 0 231
50 AET—TH 0 547
60 AETZTH 0 318
70 AET=TH 0 617
80 AT YR ET 0 72
90 PR T I AT 1 392
100 Jt o FLET 0 248
110 ¥ASTHT 0 2477
120 AT AHT 0 399
130 TEFHT 0 756
140 £ ] T 0 51
150 FEFHET 0 712
9999 KRB XE 5 7860
510 AETMTH 1 799
520 hEEEHT 0 294
530 J\IEHT 1 467
540 15 EET 0 867
550 S BT 0 727
560 = ZEET 0 176
570 EEET 0 137
580 FrEAET 0 244
590 FEET 0 108
600 RN 0 1318
610 EHT 0 343
620 EET—TH 0 2
9999 J\ KB XE 2 5482
1010 B AHET 1 408
1020 L HHET 0 693
1030 mh A ET 0 623
1040 Fichag:ii 0 1047
1050 K HAET 0 1227
1060 F_EHT 2 1022
1070 Fr IR ET 0 1294
1080 E HH#T 0 857
1090 HEHRT 1 1333
1100 L+ BEHRT 0 1120
1110 1S IEET 0 331
1120 12 1E JTHT 0 160
1130 + 0T 0 67
1140 FRRET 0 21
1150 FERET—TH 0 386
1160 FEET-TH 0 501
1170 H7KET 1 375
1180 BEFLET 1 480
1190 FEFARHT 0 368
1200 RKFH—TH 0 272
1210 RKFEEZTH 0 332
1220 FHT 0 271
1230 iRET 0 321
1240 HEET 0 239
1250 1= ET 0 291
1260 yER=E 3T ] 0 96
1270 HEHET 0 248
1280 FRAE T 0 328
1290 ERET 2 335



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

1300 4 TEHT 0 247
1310 KRIGHET 0 150
9999 A HEEXE 8 15443
1510 HEHD L BT 1 1552
1520 HE T ET 1 1453
1530 HE#0 ST ET 0 713
1540 KigFHT 0 1108
9999 FERNAR: X B 2 4826
2010 = EHRHET 0 414
2020 %= EFhHET 0 591
2030 JENHT 1 44
2040 HET—TH 1 435
2050 HETZTH 1 430
2060 g FE BT 0 98
2070 FRET—TH 0 519
2080 FRETZTH 0 419
2090 Ty ET 1 3655
2100 ==bld:] 0 539
2110 FENNFTET—T B 0 489
2120 FENNFRET =T B 0 543
9999 ZEREXE 4 8176
2510 P BT 1 4484
2520 K B2 ET 0 2776
2530 =/NEET 0 762
2540 FHiGHET 1 894
2550 SPHET 0 481
2560 = BT 6 2011
2570 KEHT 0 189
9999 WERXE 8 11597
3010 RHTET 0 2000
3020 BT 0 1948
3030 L EPHT 3 1671
3040 =1z 0] 1 291
3050 T R ET 3 3987
3060 H R THT 0 1005
3070 T BREET 0 973
3080 H T 0 847
3090 H R ET 0 824
3100 ZZ==Tic]:0 1 1012
3110 zZl==pId:1) 0 895
9999 INTFEREXE 8 15453
3510 SR 0 412
3520 ZRoET 1 735
3530 EETH 0 2017
3540 Z R KHET 1 812
3550 AEFHT 1 1614
3560 = FERHET 0 606
3570 = e 1 1611
3580 3 L BT 1 1076
3590 TEET 0 16
9999 SHBEEXE 5 8899
4010 )1 N ET 1 701
4020 fE&HT 0 199
4030 1SET 1 542
4040 = HE A ET 0 479
4050 K E/T 0 973
4060 B2 4 AT 1 769
4070 dt R ET 0 376



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

4080 =;TiHET 0 475
4090 R ET 0 670
4100 A EFNET 0 289
4110 Jt S FOET 0 354
9999 R XET 3 5827
4510 ERE—ZHT 1 1550
4520 B FKMET 0 393
4530 ARE =T 0 341
4540 AR FHT 0 283
4550 AR FHHET 0 217
4560 EREENTEET 0 126
4570 ARECHET 0 271
4580 AR )\ FEHT 0 186
4590 AR N FHET 0 245
4600 ERE+ZHT 0 270
4610 EREE+—FHET 0 398
4620 B+ — FKHET 1 561
9999 BERRET 2 4841
5010 REF0 B /T 0 435
5020 RE FOBA 4 ET 0 381
5030 REAFNE{—ET 0 453
9999 AR X &Y 0 1269
5510 b R ET 4 514
5520 = Hh BT 2 1272
5530 =T 2 982
5540 T 0 544
5550 BET 0 153
9999 =X E 8 3465
6010 [iE] BT /)N B 0 213
6020 fif] BT e 0 257
6030 [ BT &)1 0 191
6040 13 FFET 1 471
6050 JIIEHET R 1 336
6060 JIIEBETEE 1 274
9999 BEERRXET 3 1742
6510 H&EA#EAHET 0 48
6520 H&E A KEHT 0 422
6530 B &R AFTHET 1 237
6540 HEAILUTH 0 373
6550 BEAM 2 NET 0 198
6560 HEAEILHET 5 300
6570 HEAGFHET 3 331
6580 HEXAEHT 0 185
6590 HEARHE 0 106
6600 HZEAGHT 0 179
6610 HZEA LT 0 107
6620 HEAGFHT 0 86
6630 HEATHGHE 0 195
6640 B & A EHET 0 88
6650 HEAKHET 0 9
6660 HEAFRHET 0 52
9999 HEARRKE 9 2912
7010 ZRIMOm 0 366
7020 ZRKHT 0 546
7030 Z RIRHAET 1 227
7040 ZRTXKEHET 2 469
7050 Z RETHISHET 0 256
9999 ZR&EXE 3 1864



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

8011 IRAETFEERLY 0 147
8012 IRABTERERA 0 303
8013 IRABTEER (& 0 178
8021 IR AHETIZRKLY 1 192
8022 IR AETIRIKA 0 11
8023 R AETFRK & 0 16
8031 IRAETHR ALY 1 379
8032 IRAETHRARA 0 29
8033 IRAET R A 0 45
8041 IR AETEEIFLY 0 142
8042 IRAET LR A 1 81
8043 IR AET LR 0 40
8044 IRABTEEIRIZ 1 65
8045 IR AET LR 0 100
8050 IR AHET IR A 1 378
8060 F N b ] 1 298
8070 IRAETER 2 289
8080 IR A BT S %A 0 121
8090 IRAETEE 0 112
8100 IRAETH /R 0 40
8110 P A< BT 11553 0 118
8120 IR AETEEME 0 191
8130 IRAETA E 0 183
8140 IRAETEEERT 0 300
8150 IRAETEEERL 0 201
9999 IRARR X ET 8 3959
9010 FTHEHAREH 4 1248
9020 FTHEHIEER 0 779
9030 FTH#HAEH 2 2311
9040 FTHEHRH 1 2770
9999 FTHREXE 7 7108
9110 Fi =R 1 1126
9120 =BT A& 0 525
9130 FEETRE 1 324
9140 SRET T AT 2 906
9150 SERT L 45 0 1034
9160 SEATEE AT 3 1528
9170 $ERTN A 0 1920
9180 SR ET 85 0 1297
9190 f=ETZ A 0 478
9200 SEETET IS 0 490
9210 RETE 0 852
9220 SR ET R 3 1299
9230 SEET B M 2 1400
9240 SRHTIE R 0 611
9250 $ERTIL Frth 0 1230
9999 FERXET 12 15020
9310 B SHETA{R 0 480
9320 RIZHETIL 0 543
9330 B[S ET/NE 1 357
9340 RISHETE 1 854
9999 R XE 2 2234
9410 RETTE 3 846
9420 RETHHE 0 507
9430 RETEXR 0 350
9440 RETAEF 0 33
9450 SRETHER 0 48
9460 RETCHE 0 70



MH24 T FREARBIRED—FHREIZCKYNBEANZEDH-ADO - HEH
[H28.4.303R 7£ J4TERET & (K=F) BIE & AI A O 53k (&5

TR (XF)a—F {TIRET (KF)4 100l AOE

9470 RETEXR 0 15
9480 SRETHER 0 138
9999 REXET 3 2007
99999 &5t 102 129984



